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1|1 0133]| #@Em 44° 47.0 N 143° 12.1' E 253km M: 4.5
AR 1 BEERTIESA%=1.0 BOEA/NHER %=0.8

2|1 0140 | EERSE 37° 03.9 N 139° 20.9° E 7km M: 3.1
e e 3 Ak EE % =3.0

3|1 0231 R 41° 09.27 N 140° 46.9 E 13km M: 2.7
TARIL 1 TR =14 FeHhHE1%%=0.6

411 1109 | jAryd 41° 44.6 N 143° 00.1' E 33km M: 3.4
AbiiE 1 20 HETZ D HIf*=0.9

5|1 18 46 | fE&ERAHE 37° 03.9 N 139° 21.1' E 8km M: 1.7
& 1 KBt Bl sk=1.1

6|1 1915 | mEEA 37° 02.8 N 139° 20.3 E 8km M: 2.1
e b 1 RIS T sk =1.4

711 2118 ERRSE 37° 03.9° N 139° 20.9° E 8km M: 3.1
e e 3 RS FRE*=2.9

8|1 2300 | ZRMURALE 36° 48.6 N 140° 34.8 E 7km M: 2.8
PRI 1 HEEKHETAHHET %=0.5

9|2 12 07 | HEHGHER 42° 52.7 N 143° 41.6 E 112km M: 3.5
AeifiE 1 BT S ARNT k=1.1

10 | 2 23 51 | fEERALE 34° 06.4 N 134° 29.6 E 11km M: 2.7
T 1 A E %=0.5

11 | 3 00 12 | ‘gl 38° 43.8 N 142° 14.0 E 40km M: 3.8
AT 1 —BIrEERAT %=0.8 —Bgri T =07
IR 1 A =Pl 11=1.0 &/ NHE=0.6

12 | 3 09 56 | sEMEE 34° 38.5 N 137° 31.9° E 34km M: 4.9
H o Uk 4 RN RIXEITHT % =3.6 WPETT 3 % =3.5 IMARXITZ BT %=3.5

3 LIS *=3.4 IidbX = AET=3.4 ERR XTI % =3.3 IR TR +=3.3
BARAEIXKE T % =3.2 AZH TR % =3.2 HeANdbAmTRT k=3.1 & il *=3.1
TR KGR ARITFE S, 5k =3.1 M AR *k=3.1 IARTE AR %=3.0 M FEEE*=3.0
PANEAL K PG5 *=2.9 HAATFX =HANT =29 L 1HTE=2.9 #YIITEA *=2.8 Z&H1i iff*=2.8
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FRIERE KT AERE % =0.8 FHHRHTRIF=0.8 JIARANIT HREJ2 %=0.8 73 H *=0.7
FRllig KX TFRERT=0.7 P EMTREE % =0.7 #REFiak=0.6 FHliE/KXHEHE %=0.6
BT JNT % =0.6 FAIRITTIZS % =0.6 FHmZEXEHE *=0.6 FHHIZEXHME 2 %=0.6
P\ %=0.5 BWETiR*=0.5
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3 BITHAEET % =3.4 Friai=3.4 FRTiTRA=3.3 FRmiEME +=3.2 FRTiETEE %=3.2
BTN % =3.1 VERATEIE ST %=3.1 B[t/ MEHRT %=3.0 kA L Ui 48T %=3.0
E TR £=2.9 EITH—E0T%=2.9 FITFRA *=2.9 HFEHAPHRIT *=2.8
BT/ NRET % =2.8 THATT/AKPTET k=2.8 EHETTHAAILNT %=2.8 E)I[THRUHT %=2.7
TR ENT % =2.7 FETHEITIT=2.6 FERTREIRET %=2.6 MFHTHEFNT *=2.6
EHETH/NANRT=2.6 FILTi9AE%=2.5 HERTHSENT =25 SHIATEHMT % =2.5 BYIITiE, *=2.5

2 NPT =24 FNZ TR k=2_4 £ EERERKH AN %=2.3 [ Lm] *=2.3
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KR4 KA R 5 =22 220 AnRAT =22 22yt L] =22 AJRFriipaRly =22
A RTHEX B FINT=2.2 £t Rdr X @ % =2.2 YT syElT % =2.1 A ifaART k=2.1
A RIS @ k=21 HERTRFRT k=21 A LLHTIIN % =2.1 4 Rk A TART k=2.1
[T B IT=2.0 PERETTE BIT%=2.0 4 RIS *=2.0 4R X KENT *=2.0
FHNSEIEATIAIFN % =2.0 S EATEINT *=2.0 BAFTEERON*=2.0 4R KEXEE *=1.9
IR | %=1.9 FHFTAAT=1.9 ST/ NERT %=1.9 A REXEH*=1.8 FiBiHbiT=1.8
HHETTINARNT % =1.8 HJFHTHHENT *=1.8 FERETTHIGENT *=1.8 HAT)IIHHIT*=1.8
BETAIRANT=1.8 FREEATZH *=1.8 £ iR EHE AN %=1.8 S W iifEEiT *=1.8
FEIR R %=1.8 £ dERSFILX T Bk« =1.8 BN 1 *=1.8 ¥ne fin] - 80T %=1.8
—ETAE T *=1.8 A HEFXTT *=1.7 FEREREZeH=1.7 & HHTRERIT =17
BB EH 15k =17 44 RHEXAR T k=17 B LN S k=17 TR AR %=1.7
B/ NERT k=17 2 EREX\ T %=1.7 FRET —EiT=1.7 FRIRATHAITHT *=1.6
TEZETTT PR ST TEE % =1.6 £ b [|X AR % =1.6 15T A HRIE *=1.6
SR XA % =1.5 ZPETA BRI k=15 HEENTAAS %=1.5 JEATTIHEMN*=1.5 E4RFEL*=1.5
— eI k=1.5
1 FRNTHEE k=14 WA TN k=14 B TREMAENT k=14 SN E=1.4
HETLEN *=14 bEMHHEEF*=1.4 —ETHTH=1.3 FRRATFRNT *=1.3 KIATHES*=1.3
FVGTRRGEENT=1.3 Jb& Rk =1.3 EHRA R R %=1.2 KRIUFHARHL *=1.2
/NBTZZERT k=12 KOART /O k=1.2 SSPEHLPERT k=1.2 e i AT k=11
FROTARRIET k=1, 1 BRSRMT ke sk=1.1 SV HARGRANT *=1.1 b4 R ifiRE o E *=1.1
HETAM *=1.1 EETrEEH/RE T %=0.9
FBpIR 3 FEAFTEY *=2.6
2 RHEEFREE VTR % =2.0 FFids«=1.7 FIEFHRA *=1.6 EE &I FiiH*=1.5
1 RETEPINT=1.4 [EEETHZE k=14 FEFTENES k=1.3 TIRRPER *=1.3 RS *=1.3
AT AR k=13 AR HTRALRET % =1.3 TREAES % =1.2 AT = %=1.2 KEEFFM *=1.2
REFBFUR=1.2 AT SR PSR =11 PR % =1.1 FER AR *=1.1
AR HEE N k=11 FIARREAIRS %=1.0 TIEREH 7 IR k=10 FFFEILS %=1.0
FIRTREE % =0.9 fIKFHTREE IR % =0.9 ARENTHES=0.8 AENTHEH %=0.8 BAFEY*%=0.8
FINBTTERIE *=0.7 FAHTTHHEE Y =0.7 KEARF *=0.5 FEhiiEE*=0.5 AGH{ES *=0.5
Mgt R I 3 FEIRHT BARAERT % =2.8
2 IFEIT RN % =2.0 2515 AR %=1.9 TIGmiRMT =19 Turiiinm =1.8 AR LEHT =18
AEAARTEIRT s =1.7 FEARTTAART =17 AR 5 =1.7 I R rMIERT =17 P ST EmeT %=1.7
BRIk =1.6 Hgrii LT k=16 FEIRHTHF*=1.5
1 SRR =0T % =1.4 FEIFH2COARNT=1.4 FE) I [FAN] %=1.4 ) [Fit@ER *=1.4
IR ST % =1.4 VAR *=1.4 J\EEET )\ EEk=1.4 SIEATEYRET k=1.4 22/\BoKH*=1.4
AT EHNT k=14 AR [ R % =1.3 A /)1 =1.3 I [mHfaniTsk=1.3
FREEITIL D % =1.3 AR RNk =1.3 SFSIE AT k=1.2 Sz PARTIUAS %=1.2
FifE T sk=1.2 FHETAES k=1.2 KIETTALOPN % =1.2 BIMAEEL@A Y *=1.2 FEnSiikmET=1.1
BRI BT k=11 FE0 =11 FETEE*=1.1 I IR fEE k=1.1
BB EFTRN AT k=11 I EHTIA 2 H=1.1 EIMETREM =1.0 &) I0RTH)111%=1.0
KEFHTREF =10 H)IHNF-RE%=1.0 B0yl k=1.0 I RATalT *=1.0 £ *=0.9
SERINETHTPERT % =0.9 A= M= % =0.8 FFH) [T/ NEE 1L % =0.8 Iz il T /N2 H % =0.8
I B LR TR P 5 =0.8 T = i LMY % =0.8 AHLHT 37k % =0.7 AT FEZE%=0.7
TET T EANER %=0.7 528107 =4#=0.6 F&Ai#kRH x=0.6 JtAFHTILS %=0.6 SHURTEGH *=0.6
BIMI P2 k=0.6 LT FRRAE % =0.5 BRI TH5%=0.5 AR Eii/\BEHTAE *=0.5 B L2 f**=0.5
wlR i %=0.5 T & if=0.5
AR 1 PP E R R=0.9 A EFIS % =0.9 [ESSFTTR8=0.8 [ETFHiAZ %=0.7 #HrEt=4RE=0.5
FZ R 1 BAEmRTH =13 EEEITE % =1.0
EaI 1 P RESFEENT % =0.8
TR 1 BOATRAZNT=1.1 BREmTPEH A k=1.0 fEHTES=1.0 fEHm AT *=1.0 BEMHL*=0.8
KBTI % =0.8 mifEIT=IR=0.7 R T x=0.7 BRATTSEEH *=0.6
AL 1 B TR k=12 (LRUALTESET %=1.0 &3 DETANE=0.7 BT -85=0.6
ILBLFEEIT S [NFAR % =0.6
—ER 1 DUH AT =10 SAHEHPE4=1.0 KRBT PEE] % =0.9 i IRRT=0.7 FABKMHFANT %=0.7
FEATTREEHT % =0_7 DU H i A 7k=0.6
B 1 RIEAPEEHNT IR % =1.2 EARmFHNT=1.1 T R e iT=1.1 AR E4HT %=0.6
T 1 JAEMUBT =08 Ik 5 *=0.6
ST 1 BTRT=0.6
REIR 1 BOFTZEE%=0.8
13 | 3 15 12 | HTFREHH 39° 04.00 N 142° 24.1 E 30km M: 3.5
IR 1 FE=RERTEHEY11=0.5
14 | 3 17 05 | ‘=R 38° 13.8 N 141° 56.4 E 51km M: 3.9
IR 2 & INANE=1.7
1 ZJIMT ) 13k =1.0 A&t FHT %=0.8 A&tk EnT %=0.8 itk |1x%=0.7
B =T 11=0.6 SALTEHIHEDN % =0.5 BT FHENT=0.5 T KIERER %=0.5
R 1 —PBIHTRIT =12 —BIr=MNT =11 —BIriHRMT %=0.8
15 | 4 00 19 | HARFHHRETEL 40° 37.2 N 140° 27.7 E 9km M: 2.8
HARI 2 LR k=18 SLRTTHFNFENT=1.7 SARTITEH *=1.7 FREHTTEEH *=1.6

FHAREAT AR % =1.3 BAIRFHT AR k=1.1 P AR’ *=0.8 ) [FHIAHET =0.8
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1 AREHVEA B k=09 REHFEEEE %=0.5

32° 04.4 N 130° 00.4 E 12km M: 2.9
1 RETA-ET=0.8
1 ERATER x=0.9 EEBITHHE*=0.8

38° 09.7 N 141° 48.1' E 58km M:
38° 10.00 N 141° 45.9 E 56km M:
558 Ak NHE=5.2
559 ABTHHART %=4.9 JRANTHITE=4.6 KIETHESE *=4.5 &JIZ4)I[#E%=4.5

4 KIFFHR % =4.4 (5 RDCRHE k=4 .4 B BRTRRS % =4.3 BEFHi4nk % =4.3
HOKTHTEERT % =4 3 fRTH AHRER % =4.3 RIGTHIAILk=4.2 KNGl %=4.2
SR | EFRT R | k=42 BORTTERT k=42 IR BRI % =4.2 A&l =4.2
HEERTITENT % =4.2 HUNESTRA % =4.2 WANEMTRIE=A.2 BOKTIRCKAT k=41 BOKATALNT % =4.1
BT T k=41 AUEEIREF R ENT *=4.1 RIFTH = A0T=4.1 A7kl %=4.0
FIFFATFE k=4.0 &l 1k =4.0 UEEHEF X Fln=3.9 HIAE T/ N *=3.9 BEIRHHE*+=3.9
L T ek =3.9 (AURRNTDUAE =39 X miRNT=3.9 Bk BT % =3.8 KR I[ALNT *=3.8
IR F=3.8 il EIT k=38 Kk =AK*=3.8 4Bl *=3.8 FEFEi##*=3.8
JECERTI A % =3.8 FLRTT—if % =3.8 FURMIAAN +=3.8 B KT HNT=3.8 lEFrkxE R %=3.7
KAkt KA % =3.7 B HEXIE %=3.7 KAIETHREZNT %=3.7 Kim&) | Kil#=3.7
BRI % =3.6 EFEMT /K % =3.6 KULBTIIRE=3.6 KIHTHI) I %=3.6 FFHMTHH *=3.5
ST % =3.5 JATFINTHTRS % =3.5

3 FUEMAEIL *=3.4 rg —RERTEE =34 A H%=3.4 SLHNTANE=3.4 (LochT&A R % =3.4
BRI %=3.4 BKATA-IT %=3_3 IIAFERKE=3.3 AT *=3.3
RFETER) %=3.3 FATTEEIT*=3.3 I52e#=3.3 (I HREXTE *=3.2 BKilHELAT %=3.2
SUART ESER %=3.2 ErHNIEmT/ NP % =3. 1 B HHEREA *=3.1 B MAN=3.1 EAITEA*=3.1
SANETHASERTPE) 11P9=8.1 FF el % =3.1 R inE1-%=3.1 KNI %=3.0
SRS % =3.0 KIFFTa L £=2.9 FIRINENTEIR *=2.7 AZRIT [55=2.7 L 50T *=2.6

4 —[HAERAT k=42 —Bi T % =3.8 —PIri=tRMT % =3.8 —BIrirILIM] *=3.6
IS IANENT=3.6 —RAHiHERET %=3.6 HLINHRTRX *=3.5 oA THZEH] %=3.5
SESRMTIR % =3.5

3 BLNIFITAIX % =3.4 BUNHATARRIX %=3.4 BN X %=3.4 HKrIBTREHRNE %=3.3
A LrfFRZRET % =3.3 —BaTi A LNT % =3.3 BRI AT ELIXE [ %=3.2 KHIErE)07=3.2
Iy FE T v FEIT sk =3.2 (R T HEFE K sk =3. 1 TR HRINT % =3.1 &7 T PEAR %=3.1
TEEFHTE ST %=3.0 b -AiHIFIT=3.0 fE&TTH AN %=3.0 sEF i %=3.0 —IfiKHNT=2.9
BN TAKIR XORSEIT=2.9 8 FUBIT=2.9 B ILEERT=2.8 AANIETRNT =28
BN AR KA % =2.8 B T4 AN %=2.8 WATHE %=2.6 EHiH#&*%=2.5
BERATT R LR % =25 FERFRA =25 J\REFHEE*=2.5 & imX R k=25 {E&fAEnT=2.5

2 EATAAN k=24 (LA *=2.4 FFHATEFH %=2.4 SEPMT G5 %=2_4 |LHIT/\iEn=2.3
SATFRT R AT %=2.3 BBk % =2.3 BTk I%=2.2 FEFTRETIRINISTk=2.2
IFERREEN=2.2 wrii)Hsk=2.1 AZ&HJIRmT=2.1 JUE iR sE=2.1 PEREmT)I%=2.0
BT %=2.0 BEMITIBEHET %=2.0 — ik % =2.0 AT RERA I %=2.0
RABRET/ Nk =1.9 B THiRIR=1.9 AU TXIH=1.9 AZEH RN *=1.9 —FlTEE%=1.9
JUBESETHUAF % =1.9 PEFVERRTIRPIACH % =1.8 BOKHTEEK %=1.8 &M H% 0 Ak=1.8
JUFRHIPREN % =1.7 S THEEFIRET=1.6 P iiablpre=1.6 FRIPER *=1.5 —Fiif&E=1.5

1 IR =14 SRR RIT k=14 FamTaR FERTF=1.4 FEENTHE 0% *=1.4
FH BP0 =1.3 ERITR) % =1.2 FBM A %=1.2 A& ILIEHT %=0.9

4 BT IENT % =4.1 AAETHTA %=3.9 AREEAIOHHR %=3.8 JI{E0TEE / 1 %=3.7
SHTHIMT A iy | VER k=37 mEARRE TR X5 T % =3.7 S<PlTHORRE % =3.5 R JEifRFH] *=3.5
RS TR X = 5l]=3.5

3 HRTHTRARNT % =3.4 tRE0HETR I E *=3.4 1&EPHETERILRT % =3_4 &5 HENIT%=3.3
] GURTTHE T %k =3.3 FIASTI AT % =3.3 &R 0HErTEL) [T % =3.3 MaZERTIbm *=3.3
FEARES TR X A7E=3.3 FIAAEE i FETX AR %=3.3 TJIlk/NG k=32 HRTHFIERT %=3.2
& St 40T % =32 fBE ALK %=3.2 “ A *=3.2 " AAHI#HE *=3.1
AE A %=3.1 RITAT4HIHE=3.1 &S THAANT=3.1 RSB T/ INVEX %=3.1 A T#EEIT%=3.0
ZEE)N T\ L >+ =3.0 B RANTAN %=3.0 TS M1=3.0 BEEMVESVES *=2.9 /NEFITHE *=2.9
FEESTHARENT % =2.8 ARILHiwI H=2.8 ARILTHBAR *=2.8 478 [HiaHic i *=2.8 A i *=2.8
RFAT TR =28 HATKH %=2.8 /NEFR]/NEFHTHT %k =2.8 “ A4 thk=2.7
WhETTZR=2.7 WhE TR % =27 f&5 A0 FALE RAHUF =27 JIIPNA BTN RIE*=2.7
WERTHIA EEF=2.7 EHTE A % =2.7 @I %=2.6 M) HER % =2.6
JUPNFTT)IIN=2.6 KABNTET |-%=2.6 KEFMTI*=2.6 PEFigE+=2.6 ERILTIHRENT *=2.6
Fr AR % =2.6 HiaMRIE %=2.5

2 [HITHIH % =2.4 SURAHRIF %=2.4 KIKET—AA%=2.4 WO XTIV %=2.4
FESIRET FALA A % =2.4 JIPAT_EP/NLE =24 JEE TR k=24
FUENTAEAT % =2.3 KB E=2.3 FEMTHEREEA %=2.3 WX T#HT %=2.3 I[N [ %=2.2
SARMTIMT %=2.2 WO ERT/IMAIE=2.2 FIRITIERN=2.2 FIRITRAE *=2.2 AT/ Mg ®=2.1
PEARFRE A % =2.1 288 I EBAT*=2.0 MHAaRTHIER » Fk=2.0 SHLK FATHikh =& %=1.9
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AW B T LBPN k=19 FT i\ N % =1.9 TERITIA IR 11=1.8 J&i CHThgrE=1.8

A ENTREET Ak =1.8 HENTHS % =1.8 I AR hEF % =1.7 EL 7Tt 0] %=1.6
PEEITR S sk =1.6 B3I AR 15k =1.6 FEREERTHE=1.6 RAEHEAR T *=1.5 FHNTElE*=1.5
DTN HSENT k=14 B AT k=14 PHAHMTER=1.4 A2RANTAER % =14

LI HNE K % =1.3 ELITTHEMENINET %=1.3 THRHTHA % =1.3 WIEERTHIE:%=1.3

AT ANT=1.1 SEFAATHALAENT % =1.1 SRS TS *=1.1

DU EMTASR T k=11 FENT R k=11 B ITHA LT %=0.9 &4 LTI %=0.5

[ ERTIE(L k=28

PR k=24 BALRT BAERE k=22 FoW SHEMTH N =22 PR RIEME % =2.1
TFRTERE=2.1 AR K sk =20 HO@EF/NHEFR %=1.9 EFBTAR 2 F%=1.9
JURTINGL*=1.9 JUFTIRNT=1.9 HARMSEIT - %=1.8 +FIHETE+ FNT*=1.7 LF0Tt=*=1.7
FHTAA T k=17 =R NIRRT sk=1.6 BT BN k=16 BFIHIRTEF O k=1 .6

+FOE TS BT %=1.5

IR =14 TFRTHk=1.4 DD HRPENT %=1.3 BOEA - GRA *=1.3

S WERTRE & =1_3 PR %=1.3 HaemiPix=1.3 trorfidh=1.2 BRIAHTAA *=1.2
TARRSHNT A sk =1.2 HARMAERE=1.2 BAITES 2 R0 k=1.2 FARTTRM *=1.2

T ARFE TR T k=12 ) T sk =1. 1 BREENTAR / i k=11 JRIRTAT PE 5 =11
ONDHHIARRE *=1.1 BHMTEMI+=1.1 J\FTEF=1.1 +RIETRE =11 LT E*=1.0
BERF R % =1.0 I [THHIART %=1.0 HO@HTF XA H=1.0 BHERTSET %=1.0 O35 Hik1%=0.9
SLATHTHAT %=0.9 78 B RATE{C*=0.9 ZMEAER*=0.9 EEEEFEAEE%=0.9 Tp-omi)IPNAT*=0.8
N FFTRES0.7 O A THE AN %=0.6 735 tifRHMI %=0.6 JEPINTHRHIR %=0.5
FAUTEEL % =3.3 KAUTHARAIAEREINT % =3.2 TR *=3.0 HFIATETRE*=2.9

T TR % =2.8 KAUTIAIFIEF %=2.6 PIEMTPEEZ N *=2.6 ALALrTvEARNT AR %=2.5
FEAIASHE TS B MTYA H k=2.5

FKTHFRAFO % =2.4 #ETriEm) | 0T4515E=2.4 BEFHhIT %=2.4 BEFHRANT *=2.4

T SEARRT i =24 KAUTHARE <% =2.3 {5IRH) I H0] % =2.3 Bk 1PN %=2.3

BARTTREE =22 HIETAL) R % =2.2 (CHNEATER % =2.2 ST REmT v %=2.1
REFR-FSCENT % =2.1 GiRMEE=2.1 —FERTE k=21 AT T=2.1 HaEr#E % =2.1
FKETRHER LK AR=2.1 FIASTE R N % =2.1 BRI BT R BT % =2.1
FRIASHE AT A ST % =2.1 KAIALEEF %=2.0 KA =20 KflfiFEsk*%=2.0
FRHTER T k=20 FETHTILPN T *=2.0 I ERTPERE H=2.0 STiZ2 IR PN %=2.0
FKFZEHRIT AR HAR=2.0 AETFribg HERTHY k=20 R %=1.9 HFAIET AR %=1.9
FAUTHAFERTACH =1.8 A&7 ERT =18 FFIATESHEITIR K.k =1.8 HFIATET IR *=1.7

JERK TR ER L sk =1. 7 ALALTTEIRAERINE  # %=1.7 AHEHPEARRT Byt +=1.7
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SERITRIERT %=0.7 BZEBILT&FT*=0.7 HXtHFekalr*=0.7 FEHiA#E*=0.7
IS % =05
TG IR 1 MAAETTEAERT*=0.5 HilA i BRI %=0.5
B R 1 AEH FRR=0.7 BB T4 %=0.7 EITAF%=0.6 S\ /=% RIBXIER *=0.5
HURCER 1 HORHEF XY T % =0.5
27 | 4 23 23 | fBERHH 37° 47.3 N 141° 33.5 E 48km M: 3.5
IR 1 A NHE=1.3
28 | 5 0056 | AR—> 2 HErE 46° 36.8 N 145° 29.4 E 408km M: 5.7
AisE 2 JHRATRANT =18 AREEMVEA M *=1.7 BN HE=1.7 REHER *=1.7 WAETTHNENT *=1.6
MR TTERERFE % =1.5
1 BIERTABIE % =1.4 HETALON k=14 FEARTHER *=1.3 HIRETTEAANT *=1.3
TR AEAE =12 JERERTRMR=1.1 SIFETH=ENT=1.1 JAAMTI R=1.0 ST ESENT 5=1.0
TEHPRTEEZA % =1.0 FEEERTAL 2 45 ¢=0.9 FR{LIHTHMT %=0.9 PHARTIVAMT *=0.9 PP 1 45%=0.9
TR EEM 5k =07 JARMEAE=0.7 FrOVZ2 I ERNILTNT=0.6 REET7154=0.5
Z 0 HETZ 0 Bl %=0.5
AR 2 HOEK/NHEFR %=2.3 B EMNE(A*=2.1 \FHmasX *=1.6 BT IR *=1.6
NI/ INE=L.5
1 HRAREFET k=14 HULET FAVET % =1.2 Teori Rl k=1.2 -EFETH/ L*k=1.2
JUPTIRIT=1.1 0T EE=1.0 F-NT A HTHT%=0.9 Fb/ EHTHE %=0.9 FARm 0T & Kt =09
BOSERTHTH*%=0.9 Teomi4ih=0.9 /TN *=0.9 TFJHIRTEFIM*=0.9
FOEFHD M GHAH=0.8 AFPRT R =0.7 BRENTSE T %=0.7 o-O11)IINHT*%=0.6
BCALHTES 2 Rk =0.6 7S+ IR EEE0.5
AT 1 BT RLXHE k=13 “ s % =1.1 AZETEKIR=0.9 BKATECK %=0.8
ST L ERT=0.5
29 | 5 02 09 | JUREFEHM 44° 06.9 N 148° 03.2 E Okm M: 4.7
AeiiE 1 MREMEAH%=0.9 BIMETF#5=0.6 fETdl 2 45%=0.5 REHFEERFE *=0.5
30 | 5 0215 | =i EimiE 24° 47.8 N 124° 48.2 E 14km M: 4.4
TR 2 LR *=1.7 ZREFE=1.6
1wl e R R %=0.7
31| 5 09 47 | FsR Lk 37° 03.9 N 138° 30.7 E 14km M: 2.0

R

1

BRI AR % =0.9




MR | GRIRRE |4 fiaicy R RS b5
o | B & oo B E G E
32 |5 1304 | wERIEEY 37° 05.60 N 140° 40.1' E 9km M: 3.2
B 1 AT SRk =1.4 WX T =Fl=1.3 &) H])11=1.1
33 | 5 13 36 | AKHIRARERTES 39° 30.3 N 140° 25.3 E 9km M: 1.8
FKH 1 KAUTiE<F*%=0.6
34 [ 5 13 49 | f@EFHEY 37° 08.7 N 140° 08.1' E 8km M: 3.
e i 2 BT =22 FRTEIN=1.7 PEABFRER *=1.7 ERTIR(E *=1.5 SRS *=1.5
1 REFHEAST +=0.8 HAITHEH/=%=0.6
35 |5 16 29 | wBERFED 37° 08.8 N 140° 08.1' E 7km M: 2.3
e de 1 AT AT =09
36 | 5 17 29 | FRyEIRY 36° 22.1' N 141° 03.4 E 46km M: 3.5
PRI 1 OBt %=0.9 e F/NE%=0.8 AFHi4M1=0.5 B 2hiBhIl/NF#%%=0.5
37 | 5 22 05 | ZRyRih 36° 33.5 N 140° 57.6° E 16km M: 3.3
PRI 1 BBV %=0.8 kT2 R)1%=0.5
38 | 5 2331 | Hrl - M 34° 245 N 139° 17.8 E 11km M: 2.8
HURCER 2 FEFRE=1.7
1 HERAR k=12 Bt =4R/E=0.9 HHTRIEHAHL=0.6
39 | 6 0035 | EHRH 38° 16.1' N 141° 47.6 E 56km M: 3.9
I 2 & NATE=1.9
1 KIBFTEG %=1.2 F&RARER *=1.1 APk %=1.0 KAk R *=1.0 2)II8T4c)I[{E*=1.0
TR 2E=0.9 A THES T %=0.9 HIARE TN %=0.9 A&TIRAT=0.9 HIRETTRA *=0.8
"B BT | =07 #ASHTE=0.7 SSATIAL %=0.6 A&k FHT*%=0.6 44Uy *=0.5
BT HFIRT 5 =0.5
BT 1 —BAAT TR sk=1.1 —BIHT==ARNT %=0.9 KA AARIENT=0.6 —BIrTHERIT %=0.5
— BRI LNT 3 =0.5
40 | 6 0220 | BIRHH 38° 09.9° N 141° 47.5 E 55km M: 4.1
IR 3 &/ NALE=2.6
2 FUETHBRANT % =2.3 Il R %k =1.6 RIFFH L *=1.5 %)I|H]%)I [} %=1.5
1 JARTHTITEE=1.4 AT EDR=1.3 BT AENER *=1.2 BoK BN %=1.2 JHETiRk=1.1
B SS IEFHTRIT) k=11 BRATHAINT =11 KRS H *=1.1 KA Ei%=1.0
TG |1 % =1.0 e ERTALR k=1.0 A& BT %=1.0 RIRETHRA%=1.0
KIRFTHiR L % =1.0 SEIFTEAE %=1.0 4Bl k=10 BKiim 0T k=09 HA T/ MEF=0.9
SEIRTAA k=09 A&TTRIT=0.9 FEFT—H%=0.9 ZERTEEEI=0.9 Kkt = HH=0.8
SYIVATIRA=0.8 BAKTTHHIT=0.8 KULVATIRERMT %=0.8 KHiF+ K fl+=0.8 JFERTIH *=0.8
PR F/INES % =0.8 B EIREFIX 54T % =0.8 4 IEMT R E k=07 FIFFHTRITF*=0.7
ATHBTRH =07 BKIHAN *=0.7 FEFEHE*=0.7 A& TR *=0.7 (IEEEFX Hin=0.7
BKATKILNT =07 FEEHTARRR %=0.7 & AHEAS %=0.6 fI&mMEEHT %=0.6
NIBFEHE R %=0.6 EIRINZENTTRET %=0.6 KIFHT &) 1RI%=0.6 [LoCHT A5 %=0.6
MIEHFEXKA=0.6 FF TG 1=0.5 KlAid) [HEHT =05 LEmmETH#=0.5
AT 1 —BE TR k=14 —BIrsRLNT k=14 —BIrTaRMNT *=1.3 —BIrifERNT *=1.1
— BTN =1, 1 IR =10 BN TTA) X %=0.9 KAETTARAIERT=0.8
At ERTAHEET k=08 mEFHTESTHT 5k =0.8 BNFIAHRX %=0.8 BNFHTATRX %*=0.6
—BITTILINT % =0.6 AT %=0.5 HEFTHNT %=0.5
o 1 AREETIHAS k=1.2 AR % =1.2 JI{RATRE / O k=1.0 RSB TIFEE X PERT *=1.0
FAT GBI 5k =0.9 BrHumT Ay ME % =0.8 @S EEriige) [INT % =07 &S i ILINT *=0.7
BIFRS TR S XM TE=0.7 FIASTTRG M]=0.6 FEFEEE IFITX = E17=0.6 &R TifaARNT=0.5
41 | 6 07 48 | EUFRE 35° 54.6 N 137° 42.4 E 6km M: 2.2
FRpUL 1 AREHHH *%=0.7
42| 6 10 56 | SSEHURTETS 35° 13.8 N 133° 18.4 E 11km M: 2.4
ST 1 HEETA L *=0.5
43 | 6 14 24 | =E=RniE 34° 10.7 N 139° 18.1' E 14km M: 3.1
AR 1 MEEFERE=1.0 =GR T5=0.8 FEf KF=0.7 =F#H5=0.5 HEF=XIRE=0.5
44 | 6 18 33 | ‘EIRFIRALES TR 32° 06.5 N 131° 27.00 E 20km M: 2.2
"Bl Uk 1 PR EoE %=0.7
45 | 6 20 06 | fa&lRam 37° 18.4 N 141° 06.2 E 29km M: 3.3
TR 1 ARTEEET k=1.1 185 REHT R RS HUE =1.0 HE3ERTILT %=0.8 MHTifingI#T=0.6
WhE T ZFMT=0.5 JRITET41IMHE=0.5
46 | 7 00 18 | wEEM 37° 14.0 N 142° 17.9 E 20km M: 4.2
e e 1 BT T =06




MR | GRIRRE |4 fiaicy TR X b5
F | BBy | Hoo B G E D
47 | 7 03 54 | ‘EhEEH 38° 16.3 N 141° 36.2 E 54km M: 3.5
R 2 T/ NAE=1.6
1 &7 L) 13k =1.0 F&HibkERT =0.6
AT 1 —BArTERARET =09 —RIrisRLET *%=0.5
48 | 7 06 30 | THEWLHIH 35° 20.9 N 141° 11.1' E 20km M: 4.4
TFHER 2 FHEHE*=1.9
1 JHfT=sk=1.4 JEHHHE2N*=1.3 JAfmE4A *=1.3 L &% k=12 RHfifbmn=1.2
WATHUAIR k=11 FETHHE=1.1 EAEMA *=1.0 |LRHHE =10 AR T%=1.0
BHETEek=1.0 [MEEHTA IR %=0.9 JEri#kE *=0.9 kT EHT%=0.9 JL-JUERTH H%=0.9
LT/ % =0.9 HATTH 1 %=0.8 THE-FJRXENT=0.8 HilfAifiR+=0.7
IR AT ERTE £ R5=0.6 FEHEFEH=0.5 FREEHRGAS *=0.5 T3 —EIT—2=0.5
PRI 1 WPleriax=1.0 FEriiLEmy=0.9 FEBriT A %=0.8 SRHTAEH=0.7 WEkMiH.2WN=0.7
FIRFENETHEATZ=0.7 #THTIIR % =0.6 Al Hikfil=0.5 tiHiri%4=0.5
49 | 7 09 46 | BEEIRALES 36° 54.5 N 139° 23.9 E 5km M: 2.0
e b 1 FERRIFT 5 % =0.6
50 | 7 1527 | ¥ 42° 29.7 N 143° 33.6 E 56km M: 3.4
AetiE 1 REHERTIE 1 55k =1.0 HHIHMMTAESE %=0.8 BEERT S ANT %=0.6
51 [ 7 16 51 | HEREAH 41° 12.4 N 142° 14.5 E 61km M: 4.5
HARR 3 M ENTIE{A%=2.5
2 J\FHTENT=2.3 HUEANHEFR % =2.3 FARRIEN k=22 JUFHINHLk=2.1
5570 HIRT FREIR =20 SRALHT BAbRg %=2.0 J\FTimaBiX % =1.9 FUmAH RN *=1.9
FARFEEINT % =1.8 BROHMTER M =18 LN/ F%k=1.8 ZIRHRMTx=1.8 F 0T AE=1.7
FERTA AT k=16 FULRTES 2 IR (L% =1.6 EFHT-£5 %=1.5 33\ HEHTF FHE%k=1.5
1 Ny PFtEEEL.4 =M ERT/INESIT %=1.3 T ARm T T % =1.3 Te-omidih=1.3 FAMT/NE=1.3
PRI B % =1.2 TeDTidssk=1.2 Fh»r ERTEE k=12 HOEFID 7 HI=1.1
TeOTAHIT R Ry k=11 JSFRT R *=1.0 BREATAR / i %=1.0 J\FTiE~F=1.0
FFNFE VS AT % =1.0 R TP &Nk =0.9 ARLEHTSE N %=0.8 S Ak HF=0.8
T T IINNT % =0.8 ~FPNHTH Y =0.8 HUEF R %=0.8 KIMT K *%=0.7 HFii+Hde%=0.6
FHAMILE=0.5 FEHA % %=0.5
e 2 PREETTIART %=2.0 PRAETTHENT %=2.0
1 SREHAFNT k=1.0 JEENTEE=0.8 BT H / 1] %=0.8 Toirifitik=0.7 HHRTH 2 HT =07
FRIDIRTSERT 5 =0.6 OV MIERNILTHT=0.5 Z2 R Bt %=0.5
PEEE 2 BCRETECK % =1.8 AZEHiREIR=1.6
1 AU k=14 ST EETIET=1.3 & TN REF %=1.3 — ik k=1.3
JIEETTFAEE % =1.2 FERT LX) %=1.0 JLERHHREAN %=0.9 — AT &5 %=0.8
TR =0.7 BT R LXK EER % =0.7 & Hi)1H%=0.6 &N EEITA=0.6 & i HZE %=0.6
TEEFTTFAENT % =0.6 A TFAT I AT %=0.5 — A iit@lt=0.5 —BIriZstinT %=0.5
52 | 7 18 26 | tEERIEEY 37° 00.6¢ N 140° 36.1' E 7km M: 2.6
e b 1 R IRR11=1.0
53 [ 8 0321 | SR PEES 35° 02.3 N 137° 00.7 E 39km M: 3.1
Esilay 1 EETT/INEET%=0.5
54 | 8 0451 | ‘AFHp 39° 16.5 N 142° 14.6 E 42km M: 3.3
AT 1 AT *=0.9
55 | 8 0521 | EEFRAET 36° 17.1' N 137° 40.3 E 4km M: 2.1
Mgtz B L 1 TR SR 2 % =06
56 | 8 2156 | EfKE 33 2.7 N 132° 12.9 E 46km M: 3.6
IR 1 AAEPITAASL K =1.3 PE TN k=1.3 P TRy sk=1.2 P8 i =jfHm] %=1.2
RS =T k=10 KUNATNE BT k=1.0 FRE i« =1.0 /UL H *=0.9
MR % =07 J\IFRIET{RAE]T % =0.7 Z4ERALATIK %=0.6 P8 T ii#pRM=0.5 XliiRiE*=0.5
TR 1 DU+ LTI % =0.8 15 =Bk %=0.6
=)oy 1 PARTEA %=0.6
57 | 9 02 43 | EFRM 39° 13.2 N 142° 23.5 E 34km M: 4.0
AT 1 AamihZERT %=0.9
58 | 9 0545 | f@mRaH 37° 16.00 N 139° 55.9° E 9km M: 2.2
& 1 FHRTERE R =1.1 KEEFEASIT*=0.9
59 [ 9 1159 | =& 39° 52.4 N 143° 40.8 E 27km M: 5.3
AT 2 REMH EILXE ] %=1.7
1 Bl =13 WAAEARE *=1.3 AR TX]H=0.6 KM L1TEH=0.5
AR 1 SRAERT BAbrg k=10 LFHTAR /) E%=0.9 HFHTAEE=0.9 /SPNTRIFME*=0.9 JUFTTR4RX *=0.8

BUODHENTH T %=0.8 HOEA/NHEFR *=0.8 B LITiE{A%=0.7
SRR k=13 BORATEORET % =1.1 BORTRILIE % =1.1 ZUFRHAYI*=1.0 BKifiaH] *=1.0




AR | R | SEdhA fiaicy TR X M
F | BBy | Hoo B G E D
FETIHRAET % =0.9 Bk AT % =0.8 KIRFHiH) | = HET=0.7 A&inTat*=0.7
K FH U 1 ERASHPE B T8 % =0.8 KAUTimZl+=0.8 BAT T RMEX=0.7 KAUTIXIFIEF%=0.5
K SESRT i 5 =0.5
(LTI 1 HLWTRIR %=0.9
60 | 9 12 04 | FRBLVARFED 36° 07.1 N 139° 58.5 E 67km M: 3.6
PRI 1 il Pk =1.0 2K i #=0.9 A HmHifi=0.9 HAmHMH%=0.9 #)I|TiEEE*=0.8
R E TR 5%=0.8 > <IXFiKES *=0.8 HPi/4=0.8 HiltiE4=0.8 #IT&H#f*+=0.7
BEMTAENT % =0.7 TFEHAIRIT *=0.7 AR/ \H*=0.7 73 A5 Hili kLtH*=0.7
BYNTPIH %=0.6 R1iAI*%=0.6 /NEETVIVI*=0.6 Y Hil11L*=0.6 HFli=FH*=0.6
R E T /N % =0.5
N 1 PEBFTARIAT k=14 /NUAHRER *=1.3 FEEHIREE *=1.2 T4 i RENT=1.2
TPART ARk =1.2 (TR AR % =1.1 WIARTIROPHTE H % =0.9 {ZEFTTHmT%=0.9 FiAfE*=0.9
FHRET TN % =0.8 MFAHTPE I A % =0.8 Bl it 5y =0.7 FEHIT 0 53EEF % =0.7
WiATHIERT=0.6 BEVATHA=HT %=0.6 /NUTHTFIHT *=0.6 *SSfHTH*%=0.5 HYiiHekatT*=0.5
TR IR 1 BEETHRA=1.1 KRBT H O =10 FAETCREET%=0.6 X078 %=0.6 KHETFEANT %=0.5
Hil A= SR ORARMT % =0.5
B EIR 1 JZE AR %=0.8 MZEMHAL 320 =0.7 BRITAEF%=0.7 AETIHE*=0.6 HEXEMAH *=0.6
FH T4 %=0.6 AT FHR=0.5
TN 1 HATfiERT=0.5
61 | 9 17 51 | FRMIRVESD 35° 06.4 N 138° 03.2 E 39km M: 3.3
LAY 1 BRI NF A% % =0.6
EEFIR 1 fRATTEFIET=0.6
e U 1 FRIEZERHE - B k=1.0 BEHEME T *=1.0 FHiAdi*=0.8 BEMAFHIT=0.5 &HET)IRET=0.5
BRI 1 BmRE=1.2 FriA=0.6 FkmifETmE =06 FlfidAM*£=0.5
62 | 9 18 58 | @I 37° 10.9 N 141° 37.7 E 40km M: 3.7
eI 1 BT % =0.5
63 |10 07 30 | fEEREEY 37° 07.8 N 140° 50.8 E 5km M: 2.9
BRI 2 Wb =Am=1.5
1 Wb E T3 %=0.9
64 (10 07 56 | FEBERH 36° 54.1' N 141° 4.5 E 52km M: 4.9
e b 3 WhEHTEHEA K=3.1 MZERTILH %=2.9 JIRATHE / 1 5%=2.9 JIIPNF T)IIPN=2.8 W& HighfT % =2.8
FASTIARIESIT sk =2.7 FRIT Bk =2.7 FI T Rl k=27 /NEFRT A k=27 /NPT NEF T 5k =27
FAT TR % =2.7 WX T/ MA =26 R mBFIT FALE S % =2.5 REH TIaA %=2.5
SEHFS K %=2.5 ARk =2.5 {&EAENT T AR %=2.5
2 HREREE k=24 BT k=24 ERTTHAENT % =2.4 FRONTARRN *=2.4 “AMTHiEHE %=2.3
JUPRS NN R =23 KAEMTE} | %=2.3 JRITATHAE=2.3 AEEAT TR *=2.3 BAnEIRT=2.3
BRILTBARL % =2.3 W E TN Y % =2.3 EATTTRARNT % =2.2 JRIFATIRIFT % =2.2
) | HEME T % =2.2 Tl NG %=2.2 BB H/ING X %=2.1 VWb & i =Fii=2.1
AR A P ES=2. 1 ZEE) T \i& L k=21 f&ETAAAKRET=2.1 FRLigiH=2.1
FRATEATE G %=2.1 RIS TIT I R T k=2, 1 (@ ET N %=2.0 PEABFIAER *=2.0
FEEAITTACH *=2.0 ARLTHTHIREGNT %=2.0 AN ARREE %=1.9 FHik(E %=1.9 MET Pk *=1.9
BRI % =1.9 REMTHREHHIA *=1.9 " AR *=1.9 &SN *=1.8
fEOHETTRILNT %=1.8 RETAE *=1.8 KEMTHEA *=1.8 “Aiidf*=1.8 HiiEH=1.8
KEATHIEE=1.8 REAEHH*=1.8 JIIPIK BNV k=17 @O ETRD R %=1.7
RMKBT—AA % =1.7 BT\ M k=17 )[BT IR k=1.7 ZE8) 1|48 % =1.6
T REETRA) | B sk =1.6 FrHETAH VR k=16 =FRHT R =1.6 FEFAIEHREEXAGE=1.6
TS THAREFNT % =1.6 FFHE AR XPENT k=1.6 AN B~ LEFPY«=1.6 [E MM *%=1.6
R OHETTIRIENT % =1.6 REANGASII % =1.5 FIFRETIFNTIX = BHT=1.5 &5t |0 %=1.5
FAFELS THIFET AT % =1.5 SEa BTkRI=1.5
1 SHTTHORKE % =1.4 HRMTH *=1.4 IR IBR)11=1.3 fE 0t A 55T % =1.3
S RMTHTRE T4 k=13 i) | IAT7RIT IS sk=1.1 ARBAMTAREA k=11 — AR/ k=11
WHABTHRASE »» Fosk=1.1 PEEJRBTEREE %=0.8 S HBTAYRT 4 %=0.7 FHEHTEFR=0.6
B IFTRALNT %=0.5 FYRITREFG%=0.5 T %=0.5
KII 3 BSEHHERACER % =3.0 KFEIHE %=2.7

ANZHifeET =24 ACRSETTHEFNT % =2.4 FFERE T b/ Ni*=2.4 B IHidh) I/ £=2.3
kT2 E 1 % =2.3 R THIT BT % =2.2 gk FRf%=2.2 ®HekE mdthr%=2.2

R THILTT %=2.2 EHRETHEF O *=2.1 FFeKHETHEMBT%=2.0 WHEIAG%=2.0
R T PET k=19 ARk =1.8 AR A Rk =1.8 OV- b i *=1.8

MR k=18 TR 4=1.8 WREXHTITEN=1.8 T k=1.7 £)IFrailf*=1.7
O=B 2o isia) k=17 /IEEd/INI%=1.6 it FeEk=1.6 BJIHNH*=1.6

SRR k=16 AERMHT M *=1.6 AP TN *=1.6 AT TPENT *=1.6 FEii Tk *=1.5
HHERE TP E=15 FEKATSHNT k=15 e HimEl*=1.5 IREHEx=1.5
SREMTRT 1L k=15 K HANT=1.5 Adifil=1.5

KT k=14 /NERTEA *=1.4 /JEET FEE k=14 FIREETHP=1.4

FRIRFRNETHE k=14 BFEHTAA=1.4 238 HAY ) DT RFIE *=1.4 17 HTRA *=1.4
BAITHERE =14 BFilispm =13 > <IEhiXii%=1.3 Wkilis =13 EHFzHE*%=1.3
STETEE - Bk =1.3 253 B39 Sl b *=1.3 $MidEm=1.3 JREITHE*=1.3
OUEHRES *=1.2 RIHO/NE*=1.2 17 HILE*=1.2 #HTES*=1.2 ><IEifi/hEx=1.1
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Wik k=11 TSR MERE =1.1 FEitiksie k=11 AIFETTRE *=1.1 A/ \iB*=1.1
FRTTEA T %=1.0 FElutifeaT%=1.0 e Rt +=1.0 2FArHg%=1.0 SHAL*=1.0
TTEEIN =09 B FLATHP4 % =0.9 ZR3 il =0.9 SEMTAEMT *=0.9 FrskriiLE+=0.9
ST R L %=0.9 RUENTHEENT %=0.8 {7 £ %=0.8 FERmikiN *=0.8

T KIEETRMT % =0.8 > < IEA B\ HiEH %=0.8 TZEHAIRIT *=0.8 Tl *=0.8
TR k=08 U= B2l 2 _LHT=0.8 ZR3 il i T W %=0.7 ARdrifil =07
AT O % =0.7 J\TFARETER %=0.7 ST *=0.7 BCHATAH=0.7 < IZH 5V HIINEE%=0.6
BTt *=0.5

HRZERT T~ %=2.5

KHEFTEE Ek=2.0 TS THIREIT=2.0 TTERTT *=2.0 AZEEILTH%R=2.0
KHEFHARN % =1.9 T T AR *=1.8 KHFEHEPHI=1.7 SRR TH 7 Z0%=1.7
WA BTHEEE % =1.7 FYCTiATART k=16 AZEEE s k=1.6 FEHTHE %=1.6
TEARINET AR =16 FHATREY) [BT/N1]%k=1.6 FEE TR ERT =15 EMiiaE%=1.5
TEART A %=1.5

BRI =14 BT RS % =1.4 JERTAEET k=14 BYehirPékanT*=1.3
BTN sk =1.3 287 IT51=1.3 IS ILTRA *=1.3 AZESILIT&AT*=1.3 AYafifll=1.2
ik < e %=1.2 B IIRRAE k=11 /NUFAEA k=11 BT %=1.1
ST E k=11 SARTARHT % =1.0 &R RIERT % =1.0 TEi/Meth*%=0.9 H Y& %=0.9
BRI 4 % =0.9 WiATHENT=0.9 feEFrimA s %=0.9 By 1388 %=0.9
FENEHIE*%=0.8 ik < HHEKFE %=0.8 HYeHi@RIr - k=0.7 HANEA%=0.7
TEFHIAKE % =0.7 FEEFTTPET %=0.6 PREFHTAANT *=0.6 AZHERITEE=0.6 FHLE T H %=0.6
WEATIRRIINTIERN % =0.6 BRHRTT MR % =0.5 JARRTLE M KR %=0.5 HYEii A& *=0.5
WA AT & [ *=0.5

I TR % =2.1 AR k=21 Lo AR %=1.9 A B k=19 M iifH%=1.9
SLART SR % =1.9 KT L k=1.8 Fr&ATHkAERT k=1.8 EHMT /NES sk=1.8 HEABEHT/HRT %=1.7
KIGH AL %=1.7 (IHE2e0k=1.7 BENTH M *=1.7 A&/ =17 BN BT AR %=1.7
) | IRSHETRI) 3k =1.6 ATHERTRE*=1.6 HRBTTRAK=1.5 REITER=1.5 FIFFETFT%=1.5
KIGHTE = HWT=1.5 AFRHTIUAE %=1.5 IBEFHARXE R %=1.5

EINSERTHUHTH k=14 JRARTHMTIE=1.4 BT P HENT=1.4 BKATKILAT % =1.4 BoKiREnT =14
HATTEERNT k=14 LEHNTHNR=1.4 IUEEWEFX Ffn=1.4 (UARKHE k=14 FIET/NEF%=1.4
FrET ARG R k=13 TEE ATk =1.3 FUARHT FiE=1.3 KIRifEES *=1.3
MIBEYREF X ST % =1.3 BKriF T % =1.3 KPR AT % =1.2 B HF R *=1.2

P BT =12 £ o T IR R R k=12 SRR o) LT k=11 SRR =11

TR =11 SR =11 B ENT I % =1.1 JFid)1Rk=1.1

MBFHEXEA *=1.0 IIEKARILIH*=1.0 ZKITPEKET*=1.0 IIHEHFHEXRE *=1.0
LTk =1.0 £ BT 4011 %=0.9 STtk =0.9 B AT HFIHT %=0.9
IAEHFEXKA=0.9 EAITER*=0.9 KR =AK*=0.9 TAUHTIRE=0.8 FERIT=0.8
AL ERT % =0.8 AR % =0.8 FERHAMAE %=0.8 KALAETEA N *=0.7
EIINZERT/NEFH % =0.7 B % =0.7 SEETHEEEN=0.7 KXFET & %=0.7

P EBT3E{A%=0.9

— TR % =1.4 —BIrSRARAT %=1.2 B AT ELXHE ! *=1.0 b EiiFAERT%=1.0
—BAEIRAT % =0.9 22a i PIENT %=0.9 —PBIrTHI LMY %=0.8 Rl i iy %=0.8
—BITHRRIT % =0.8 KAMETTRANENT=0.7 HEF i HH0T %=0.7 db EifiERT=0.6 B T7ILFERT=0.5
‘EiTEE %=0.5

HLET R £ =0.9 KIRMTT BT 4 7=0.9 KIRMIARRIFEH=0.8 kLl *=0.7 FENFAL*%=0.7
ILEONTHE % =0.6 FEkGTH =@ *=0.6 f AN *=0.6

(FENRFTHTEALRET % =1.2 AR TTRARET % =1.1 HATTBHRAT k=11 E3EETPEF k=11

JRETH O % =1.0 AT E LR %=0.9 HEHcEnT *=0.9 #3)I[THARHT *=0.9

KHETHFEAR] *=0.8 WHHHIRAT*=0.8 AifGEH#) T %=0.8 FHHTHERNET=0.7
FENRFTHA SRAT % =0.7 KEFATEENT %=0.7 #J1IHE*=0.7 BEETRENRE %=0.7
HAAETTRRAENT=0.6 SN NEFH %=0.5 FiATHVN11=0.5 RGN k=05 7 & 0 ili00] %=0.5
BT EBEAN k=05 EiIkTiEAan] %=0.5 fiEmET RN %=0.5 {FEY%TE%=0.5

AT FAER %=0.5

BRAALTIFASENT =11 ) IINTHEH k=1.1 FRULINTAZIL=1.0 AEATHITRE *=0.9 AZEATAFIR *=0.9
NETTTRE=0.9 & XMWDITHA *=0.9 FH T4 %=0.9 THTIAN*=0.8 E{UHTAEH*=0.8
ATHIMFERRE % =0.7 HALTH /2 )11%=0.7 ARFEHFER=0.6 X\ 7= F AKX *=0.6
RERTARH %=0.6 ALATAM =05 EFiH *=0.5 ZFREH*=0.5 V= FIXEFR*=0.5
BRNTRRIE % =0.5 JIATTH*=0.5 PHELTIHIe%=0.5 HEATIIA*=0.5 AETHHE*=0.5
T %=0.5 ) [Bri#EET % =0.5

FRFTHAEIRNT=1.3 FRHERIRS T *=1.1 FRAEI*=1.1 FEA R *=1.1 MiiEmr=1.1
ERTF-H=1.0 THERILXHNT %=0.9 FLAERRZ2HE=0.9 FIFETHSEH*=0.9 ZLNT/\th+=0.8
TIHEFEX VA %=0.8 THERITZRH *=0.8 JHFH=%=0.7 ZEN%H=0.7 LEFAHA *=0.7
T RINXAERAT *=0.7 BFHATHHRFERIE %=0.7 sKHATHAT%=0.7 H4&HH &S *%=0.6

FIPE AR %=0.6 & HEAT L %=0.6 LTI ET S+ RA=0.5

BT HXATNT=0.6 =JEHEH*=0.5

36° 54.7 N 141° 04.00 E 50km M: 3.7
FRTAREERT s =1.4 /[NEFIT/NEFHT sk =1.2 MAZERTALH % =1.2 JIIPNKS F)IIN=1.2 ERBTALR % =0.9
/NEPRT R % =0.9 FATANG [17=0.8 FASTH&EZENT %=0.8 JRITHT#1HE=0.8
RIS EEFRT FAGE RS R % =0.7 R REFT LA S %=0.7 ATHHT AT %=0.6
KAEHTEF b %=0.5 V& A7 %=0.5




MR | GRIRRE |4 fiaicy R RS b5
o | B & oo B E G E
66 |10 16 23 | HAUARZEEHGHS 35° 43.5 N 139° 28.7 E 31km M: 2.6
B 1 PHHEHTNT %=0.8 & & HEFHiHH4S%=0.5
67 |10 23 59 | EHkILIH 38° 41.4 N 142° 14.6 E 39km M: 4.0
AFE 1 —RIri ey *=0.6
IR 1 AETVINHE=1.2 /= RERT ) 11=0.8 %) 1M 4c)1 1%k =0.7
68 |11 05 48 | FEERALES 34° 03.9 N 134° 22.8 E 39km M: 3.2
TEEI 1 EEMARRT*=0.9 fE A HtmERAARERF=0.6 > XM:H %=0.5
eI 1 Sl HmT %=0.5
69 [11 08 38 | tREEAE: 37° 40.7 N 139° 56.5 E 8km M: 2.5
e b 2 JuEERAE L k=17
70 |11 10 03 | ZRBRIEALHS 36° 40.1 N 140° 36.3 E 8km M: 2.4
IR 1 BN % =0.8
71 |11 10 08 | AFWh 39° 38.7 N 142° 06.4 E 48km M: 3.2
AT 1 A ABINT=0.5 £amEEnrk=0.5
72 (11 11 18 | ‘EiR 38° 26.5 N 142° 10.9 E 29km M: 3.9
R 1 A& NEE=1.0 f&idb BT =0.8 F&ibkAHT%=0.7 #)I|FT %)% =0.6
APETRAERER %=0.5
73 |11 11 55 | ZRBER 36° 03.2 N 141° 10.4 E 23km M: 3.8
PRI 1 AN =08 B B+ =0.7 $RMTHIR F*=0.7
74 111 13 09 | ‘=R 38° 11.7 N 141° 57.9 E 49km M: 3.4
IR 1 F&TINAE=1.3
75 |11 14 32 | FEERALIEE 35° 40.5 N 140° 07.7 E 66km M: 3.2
TFHER 1 THEPRXERT%=1.0 TEELR)IXIERBHT*=0.8 THEPRXPhp=0.6 THHEXISWDIHEF %=0.6
)R 1 RRICEHEXT 7 BT %=0.5
76 (11 16 28 | )RV 35° 27.3 N 138° 57.4 E 20km M: 2.9
) I 1 AT LAk =1.1
HIARUR 1 B T4 B W R %=0.5
77 |11 18 35 | ‘EHkEh 38° 26.8 N 141° 51.4 E 48km M: 3.2
B 1 AT NHE=0.8
78 12 01 24 | 7B 36° 13.2 N 141° 00.00 E 42km M: 2.8
TR 1 BBV %=0.5
79 (12 08 54 | ZRBEEALER 36° 38.00 N 140° 36.1' E 6km M: 2.6
PRI 2 BSZHBIVINFAZ %=1.5
1 WHEKmHRTRE=1.4 B i+ R AGH *%=0.9
80 12 09 32 | AREErEHH 43° 23.3 N 146° 12.7 E 45km M: 3.9
A 2 REEME AR %=2.2
1 RS sk =1.4 MEERTEREGER % =1.4 WP ITZEZAN k=11 BINERT ARG *=1.1 fEANTIHRE =11
FRETIER *=1.0 BEITHFE=1.0 MRETHON *=0.9 FEFNTIINT %=0.7 542 4%=0.7
FEFEREAE Lk =0.6 25 {-EMTEA 1-JE %=0.5
8l (12 09 51 | jEw 41° 55.1' N 142° 20.1' E 69km M: 4.8
AeHiE 3 ARLITHMT %=2.8 TehvORTAAm *=2.7 JH W] R=2.6
2 JEHENTEE=2.4 FOERTALENT k=24 JHIENTRMT % =2 4 JHRWTEMk=2.3 HrOT=2WTEFN LTFIT=2.2

IO HMT = NERT % =2.2 ZFATIBFAA % =2.1 XV HET XY Hilifx=2.1

IO ETERAEISERT % =1.9 -HRBITAAE % =1.9 JRREETFAI®=1.9 [ARHT FfEE=1.9

TR T REAEARIT k=1.9 F &My B EETFR k=1.8 JARAITERE=1.8 BAE AN k=1.7

BRAETTHTIET k=17 JEIR(METT RSN ART %=1.7 2V HETH B k=16 RSB HAE % =1.6

ZOPHTRSRAE % =1.5 Tk k=15 FEEETRHETk=1.5 EHERTSESAN] %=1.5

ML EHETTY 1 5o =1.4 Tosfidbae=1.3 JEERT T % =1.3 Frov=7)MTEPafiE=1.3

TTRIFTHET % =1.3 FEIEHTSRNT k=1.2 HYAHTH 6 S5k =1.2 T /iR k=1.2 FRIFEHI*=1.2

T ORTRERI k=12 EHTHRPA % =1.1 SR k=1.1 2 0 LETARRT=1.1 5/ NECiHmRT =1.1

BRBITHTARARRT =11 ABIMTAL 2 T H=1.1 ABIBTHIEGET % =1.1 AT I[N k=1.1

S R k=11 AU A XAEAR k=1.1 5/ NErRIANT=1.0 FLIRR X EEJPN %=1.0

S R TEEIRAT AT % =1.0 EZHTET 1 45%=1.0 SRR AR x=1.0 PTG 1 4%=1.0

HILT 4 5=1.0 HrinkZeik=1.0 FUIRITX o] % =1.0 75K 4 25=0.9 BIRENT #4%=0.9

ARG ETiHEA=0.9 BRI ART=0.9 FLBYTAIX &7 U5 % =0.9 FLIRILXACF-#=0.9

F{ITHTE % =0.9 WM TEHT 5 =0.9 FLANIHI % =0.8 HiEHEFIEE 4 78 %=0.8 £l 2 5 %=0.8

%ifﬂm@z**-o 8 WIS 245%=0.8 —AEi=mT =0.8 JbA it k=0.7 ALK 2 5%=0.7
TITHAILI=0.7 BRAFTHEFLERET=0.7 SBIRT AHE*<=0.6 FEMRERE%=0.6 HrOTHITERNELR %=0.6




MR | GRIRRE |4 fiaicy TR X M
F | BBy | Hoo B G E D
AR 555=0.6 HIF&TTERIMTRAI=0.6 JLHITIRANT=0.6 FEAIMTLIEIIFI=0.6 “FHUITAM] =06
FLIRESTX A 2& 5 =0.5
AR 2 BOEANHERR k=2.2 i FRTIE{A%=1.8 HOEAI RN *=1.8
1 BOEAR -3 aH=1.3 U IHRIFRK sk=1.1 KEETAM k=1.1 BFIHm] BN %=1.0
Teomiath=1.0 Te oM AT %=1.0 £ MT R/ L%=0.9 HARMEEATE%=0.8 M5 HE=0.7
BN ST R =07 J\FTHENT=0.7 THI#IETERIH%=0.7 J\FHNIL*%=0.5
AT 1 BERATTRELXHE) | k=09 #BKATHK %=0.6 AFEMiFLIR=0.5
82 (12 10 13 | REXCYEEH 37° 19.7 N 136° 41.4 E 8km M: 3.2
AR 1w EER=1.2
83 (12 15 17 | HFRmb 39° 37.8 N 142° 06.1' E 48km M: 3.6
SRR 1 ST AR =13 HHHE*%=0.9 &= &)lFH*%=0.8 &k, #=0.8 LHWT AR *%=0.8
BT AT AR=0.5
84 |12 19 57 | KM 36° 38.4 N 140° 55.8 E 50km M: 3.6
PRI 2 FANCHIEI NG %=1.6
1 BRI R =1.0 EdkiiZe )l %=0.8 H it *=0.8 Oz b irgtfis %=0.5
R E T %=0.5
85 |12 20 14 | J\LE:AiE 33° 20.1' N 139° 17.8 E 21km M: 3.8
HOUAR 1 J\LHT=4R=0.7
86 (12 20 35 | ‘EHURh 38° 26.5 N 142° 10.2 E 32km M: 3.5
ER 1 AET/NHE=0.6
87 |12 21 41 | fEBIRIEEY 37° 06.9 N 140° 41.1' E 7km M: 3.1
e 1 EHAKH %=0.8 VX =FiT=0.8
88 |12 2159 | {EER 36° 56.3 N 141° 11.6° E 26km M: 4.9
S 3 RTMTEHAE=2.9 JIPR BJIPNRE =27 M3ERTIEH %=2.7 Wb X /M4 i=2.6
FEFTTTHEARAT % =25
2 FRTRAGEMT % =24 FFTHEBIEIT % =2.4 FEfREST/ING X k=2.4 KHEMTHS |- k=2_3
JUPIRE BN %=2.2 AT SERT k=22 ‘B BT AS % =2.2 Vi sy k=2.1
RS IEET FAGARAHE =21 SEAAK A =21 JIIPNAT)1N=2.0 JIZETRE / D %=2.0
W E HEMEA K =1.9 BRILTBAR %=1.9 WM [ HEIE % =1.9 & PHEifRERT % =1.8
TAKATIEHE *=1.8 BRI A=1.8 /NEFETHE & =1.8 BRATVEATEA *=1.8
T S AT R A R % =18 A& RAHET R ILNT %=1.7 WX i =filT=1.7 WX AT =17
FEAFES TR K LT % =1.7 FEAHRS TRE X PENT % =1.7 R ZPaT k=17 /NEFIT/NEFHTIT % =17
FRES TR =1.7 )10 TR %k=1.7 AT *=1.7 JEEATT(RE *=1.6 FRHT A +=1.6
FAFRITTIEITIX = SiT=1.5 AETHAE *%=1.5 REH AR *=1.5 fEETHAKRIT=1.5
TN *=1.5
1 tRETIROANT k=1_4 [ERREEH *=1.4 2= k=1.4 @i k=14
FREREAT IR sk =1.4 FEFIS TR XAE=1.4 FIFAIS TIFITRANT % =1.4 SEHUTHRHE +=1.3
BIMTE) % =1.3 A k=1.3 FHiTay N2 =1.3 JEaITRm=1.3 A iiE*=1.3
ZUENTHT\IEIL % =1.3 208 ITEE % =1.3 MaNTHlA FEEr=1.2 =FRHTRKNT %=1.2
KEFFEH*=1.2 BEANTREFE =12 KEA#IEE=1.1 SRS HEREA k=11 PRI A8 11=1.1
FATTIARS HT=1.1 #R & AT =11 ARLTHINIRENT % =1.1 RS0 A T *=1.1
TR T k=11 EAWTHIRIE *=1.0 RRET—AA *=1.0 FTiERN=1.0 ZEE)1THA4480T % =0.9
PEABFRER % =0.9 JRIGATIRIG % =0.9 EZI7ifa LT %=0.8 5| [F7R % % =0.7
REFFGASIT %=0.6 FEZEMTHGE T FBFN%=0.6 —AfATH/NE%=0.5
PRI 3 HNEHEMACES %=2.6
2 EITZZ R %=2.1 EIRT FRM%=2.1 AZmibh)Il/NFA%=2.0 A it *=2.0
R =2.0 JEAIRTTREIEIT k=1.9 FhE KRN k=1.6 A& M *=1.6
BREHTIGE % =1.6 A4 [TPalf*=1.6 AR aH%=1.5 O7=BRh HirEtss *=1.5
KAETHLE % =1.5 HhERE TS O %=1.5
1 KPP HPERT k=1.4 SRHTP k=14 BFEXETILTT *=1.4 SWEA I *=1.4
WHERETHNT %=1.3 FHARE AT *=1.3 e L/ NE*=1.3 tiiH4=1.3
BYNTHIIH %=1.3 Q7= B2 HA) 1 %=1.2 AMTifE=1.2 2J1HEREEx=1.2 #Hk E*x=1.2
AFTHAIT=1.1 AKFiRRk=1.1 FHHREHITEIT k=1.1 OV=b2aal / Fir=1.1
ANEEMEA k=11 FEATAAE=L 1 SETRIH k=11 SRl k=1.0 /NEEM/NI*=1.0
R ETER % =0.9 FHEAH TR RAT=0.9 SHEBTFRE L *=0.9 4RI T *=0.9
T TR =09 O IXMHXIHE *%=0.9 ZIRFRET#E=0.9 HhERE T EN=0.9
HPETHHEE 7 B %=0.8 733235 Hifi L HH %=0.8 /EE L EH %=0.8 HHlifR %=0.8
T \GR%=0.8 HFEHiFH*=0.7 > IFTHKEAS *=0.7 SEIFETE*=0.7 FKIRIT/NE%=0.7
FRssrhy IR B % =0.6 WSR2 PN=0.6 2537289 HHTAFIH %=0.6 FHiF%EH%=0.6
FRHETERM=0.6 #RHETER*=0.6 S X/ %=0.5
B 2 ETBTHIRL =17 ARTHERT k=17 ZEUTHEE *=1.6 EIRkEEITARRIER *=1.5 KIEFTRAL*=1.5

FAAT SR *=1.5

KIGTTHFL *=1.4 AATHEEIT *=1.4 FEITHH%=1.4 S ITET) I *=1.4

NN T k=13 AR IRMTHTR % =1.3 CRRITIUEE % =1.3 [LIehT AR %=1.3

BT INAE=1.3 AABITEDR=1.3 A MM =13 EHEIET /N =1.2 BkmaiTk=1.2

B FIERE *=1.2 AIETHTE = ABT=1.2 FUBIT =12 FURFITRR *=1.2 BKifk LB k=1.1




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
BATITRE T % =1.1 FERTAA*=1.1 BRI ERT=1.1 AIEEHE X FlR=1.1 (IER KR *=1.1
KIGFFTE AT % =1.1 FIETFER A *=1.1 IIHEZek=1.0 R Ty 11=1.0 A AdnER *=1.0
BN RA % =1.0 BARETH/NEF sk =1.0 KRR %=1.0 {IEEARXKE B %=1.0
ARSI % =1.0 EIEE EATALR % =0.9 B K E XL %=0.9 LEMETH=0.8
G HFIEXE *%=0.8 A&l FHT%=0.8 FH&HFHEFA %=0.8 F&HiAl4H%=0.8
B IR X AT % =0.8 KAVETFHED i % =0.8 L IEHT IR 1k =0.8 IR )11 KIR=0.8
KAPITHA) | % =0.8 FEIF AR %=0.8 £JIIMT L)1k =0.7 IIAEHEHEXKA=0.6 KIHETRE=0.5
TETTRIT=0.5 BT HFINT %=0.5
Lz N 2 A T=1.6
1 HEdia k=14 HENTHiE*=1.3 IREITFT-%=1.2 FEMHERH *=1.2 KHEEHEk=1.1
TV T CREFIT=1.1 SORRTSA =11 HiAIE TSRk =1.1 /MU EA *=1.0
BT % =1.0 FZESILTHRR=1.0 BXHA AR %=0.8 FH = i+ HERT %=0.8
FEABRE [HT/N 13 =0.8 FEFHi/MeH:%=0.8 IS LT RA *=0.7 FEETHAENT %=0.7
H YT R RS R 6 =0.5 A EmiseAaiT *=0.5 AREHIRHSmE *+=0.5
PERE 1 —PBITIENT %=0.8 —BIrT=MRAT %=0.7 —BITTHERAT %=0.6
iy 1 ERATEE k=13 AT =M@ %k=1.2 kUi =11 KIRWT7 AT 1 7=1.1 FILHT R *%=1.0
KRR %=1.0 LR [PGHT L/ %=0.9 FERTFAR*=0.9 [Tk f:%=0.8
KR4 =07 KRTIBRAT=0.7 HURTTHR*=0.5
RER IR 1 HAETSERARRT 5 =0.6 %) I[FHHARIKET =0.6
BRI 1 AEN FRE=0.8 MZETTFIE*=0.7 & HAEi4M%=0.5 EHT45H %=0.5
THER 1 FIAEFFH=0.5
89 |13 01 25 | Z=ERrEHM 33° 45.8 N 137° 11.00 E 367km M: 4.6
NS 1 FHE TR EFT=0.5
90 (13 02 18 | f@AIRiEEY 37° 04.5 N 140° 39.3 E 13km M: 3.8
FE=YS 2 TR FE k=22 MIENTHIE EEF=2.1 7Tk =2.0 B *=1.8
AT IR =17 FERRITET R =15 BRI [HE)11=1.5 FJIF/INE k=15 W& THEHIT *=1.5
1 AR k=13 REK FIAA k=13 /NEFRT i sk =1.3 FATHTRARRT k=1.3 FATHRHEERT %=1.2
FAT T SERT sk =1.2 Pl k=1.2 IR k=12 HFTIAREHT k=11 )1 IF IR PEF %=1.1
FHASTHARS I7=1.0 “FHAKH *=1.0 FRTEIN=0.9 VX i =FIlT=0.9 /|NEFET/[NEFHMT =08
ARETIAE %=0.8 KEMTHEEFEA %=0.7 WIANTHIEEE - F%=0.7 JIPNA L) EJE*=0.6
JIPIASF)HR=0.5 Wi i/ Ma#E=0.5 SEAMTARRE %=0.5 & =/AB N FILa A HIR %=0.5
MOEERTILH % =0.5
PRI 2 HSCHBIINFAZ %=1.5 WAk R)I[%=1.5
1 ASCAiERT*=1.2 @kl FRMi%k=1.1 OI=bAaiimg s «=1.1 Jh k=11
FRERE T /N k=11 FHE MR % =1.0 H 2 TR AT %=0.9 JEARIRTHEENT %=0.8
R HTITEREET=0.8 FHeAE Tl k=0.8 KFHIHLH %=0.7 OV bAatisia)l%=0.7
HHEK TN %=0.6 WHEAETIL *=0.6 MiiAH%=0.6 FHAHTNTHNT %=0.5
AKFTANT=0.5 /INEET/NII*=0.5 HlifiH4=0.5
91 |13 02 51 | fERERAE 37° 40.4 N 139° 57.1' E 9km M: 2.5
e 1 AEEEFHLIL *=1.0
92 (13 03 37 | HHEIR -Hiy 37° 09.5 N 138° 31.3 E 14km M: 2.7
i 2 RS X =23 FBT RS k=1.8 i) R A8 % =1.7
1 EEEAHIXNG *=0.7
93 |13 04 55 | fEERIEEYD 37° 01.3 N 140° 38.2 E 7km M: 3.4
B 1 BT A 11=1.0 HIEETHIE T EEF=0.9 HEMETIN HEUR %=0.9 7JIHT#)11%=0.8
WD E TSR %=0.7
94 (13 09 09 | JLRHI 43° 39.5 N 143° 34.4 E 179km M: 5.0
AbiiE 2 MREEMER *=1.5
1 ARETMVCAH =13 RN k=12 BERTTHENT k=12 MREEMEEREFE % =1.2 JHmT5=1.2
SIFKHTAICR % =1.1 WrPRTEEZA % =0.9 JERNTESEHT % =0.9 JEERT/RN7=0.8 BIMENT ##5=0.7
BIHERT A % =0.7 HREFION*=0.6 [EEHTFEH=0.5 BLENTSEEART %=0.5
AR 1 BOEFNHER k=13 B ERTE(Lk=1.0 KRR %=0.6
95 [13 10 01 | ‘Edpciiid 38° 49.4 N 142° 25.6° E 35km M: 4.3
PEE= 2 —BAMTENT k=1.8 —BIMI==ARNT %=1.5
1 KON NT=1.4 28 THP2ET k=1.2 —BIrRARIRNT %=1.0 284 - iiT=0.9
FRASTETTRASENT=0.8 1=IF T <FHT *=0.7 —BITTHILNT %=0.7 FaEmims H iR HRT %=0.7
A/ IRGITPERR % =07 EXRAFTILTERT=0.7 BRI ILIXE 1 % =0.7 {EMBTETK %=0.6
PN =06 [LIHBTJIN *=0.6 {E4&1EM]=0.5
IR 2 FET/NAE=2.0 KAWATIRE=1.9 Z)IRT 41tk =1.5
1 KBTS k=14 FETiERT %=1.2 F&ilidl AT % =1.1 KA TTEZAT %=1.0
SR T4 % =0.9 1 —FEMTARHEE) 11=0.8 1 — [N %=0.8 f&ifih) 117 %=0.8 ZEETA#1%=0.8
BKTTHCFANT 5 =0.7 BKTART %=0.7 A& AERERT *=0.7 FRMZE=0.7 (&78rHH%*%=0.6
FETIRIT=0.6 KIATT i) KIR=0.6 A& TTMEANT % =0.6 FERITIEHE %=0.5 B ki HRT=0.5
96 [13 10 52 | tEERHED 37° 01.4 N 140° 36.1 E 9km M: 3.3

TR

1

BT ) =12 (BTN HZR >k =1.2 WX i =F00T=1.0 #l&MTHiE/EEr=0.8




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
97 (13 11 18 | D 42° 55.6 N 143° 09.8 E 128km M: 3.6
JeHiE 1 JHERTAAT sk =1.3 ABINTAL2 T H=0.7 HIESTHRIFERT R k=07 EEERTEEANRT %=0.6
AT AEAE % =0.5
98 |13 11 22 | FHRIR Ly 37° 09.2 N 138° 30.9 E 15km M: 1.6
A 1 BT X %=0.5
99 (13 12 14 | ZRBEIEALER 36° 48.9 N 140° 34.6 E 7km M: 3.3
IR 1 B TRk =1.1 JEZORTBEERT % =0.5
100 (13 12 54 | ZRBRIEALHS 36° 48.8 N 140° 34.9 E 7km M: 3.4
e e U 1 WhE TSR *=0.7 #&JINTE) I %=0.5 HIAmTHIE HEE=0.5
PRI 1 @k TRk =1.4 kiR %=1.1 A7 BRI % =1.0 B T+ ERrAGH *=0.6
101 |14 05 50 | IR 35° 18.4 N 138° 42.6 E 13km M: 2.9
apalss 2 BEHAM*=2.2 EEHhk=1.5
1 EhHETRRT=1.3
102 (14 09 45 | FERALER 36° 37.9 N 140° 36.2 E 6km M: 3.8
PRI 3 [N FERTA % =3.1 H AT k=3.0 HIZrih)Il/NyHe k=28 A M lTET=2.8
2 ERKTT T =21 FREKHTAHNT %=1.9 @il R)I*=1.6
1 SR I k=13 FEE AT TREANT % =1.2 FHA MR HRET % =1.0 HFEAEIL %=0.9
AR HTRIEINT k=09 K7MIHLH *=0.8 HhE e hidtiT =0.8 #he =i F/ Nifik=0.7
BRETitE H %=0.6 RFIHIGE %=0.6 OV= B2 HTHA)1%=0.5 KPR %=0.5
NS 1 ABESILTTRR=1.0 HEATSE) W] FEEE % =0.7 FA0E i EMT %=0.5 HEAARE])H]/M1]%=0.5
103 (14 09 51 | ZIURALES 36° 38.4 N 140° 35.8 E 6km M: 2.0
PRI 1 ASEHBI N %=0.7
104 |14 14 31 | FRALES 36° 38.0' N 140° 36.5 E 6km M: 4.1
PRI 3 BILHiB)IVINFRE % =3.1 B *=3.1 HHAHTRTREIT=3.1 Birii+ERTAGH *=3.0
2 HBER AT % =2.3 FUEF B *=2.3 Sk NPk =2.1 HEEKHm ST k=1.7
R E T LN k=1.7
1 FREKHMETHET k=14 @i k=14 BRI *=1.4 IR IGE %=1.4
BRETE H % =1.3 FHARE AR % =1.3 FHReRKE T 0 k=11 K7 iiHRk=1.0 K= i4M1=0.9
JEFIRTFIFET % =0.9 R FATHL %=0.9 Oz B2t %=0.8 U= b2 isim)11%=0.8
TN/ IME T % =0.8 AT HIPNERT%=0.8 FFEREHHENT=0.7 SRIHaH%=0.7 &M %=0.6
TR 4=0.6 FHHERE TR *=0.6 BJIHTEWE*=0.6 BN A *=0.5 JRERTFIL*=0.5
FETTATAE=0.5 HUPETIFIH:=0.5 B4JI[TRIH %=0.5
FHA 2 AzEsLtidf=1.5
1 WEAHRED ETFEEE =11 T EETHEE %=1.0 BEETHAH*=0.8 IZEBILTR4E%=0.8
FEABRE) BTN 1% =0.8 K %=0.7 35FHT%81=0.6 SAHTSA%=0.6
FEE TR %=0.5 IS LT % =0.5
IR 1 AR %=0.7
&I 1 FFTERAT % =13 SFHEAKA*%=1.0 E)IF/NE*=1.0 VWb X i =FET=1.0
TRATRA) IR =09 HIATHIGEERT % =0.9 ZEEJI 17/ \i& (L *=0.8 JIPNA EJIPNFE%=0.8
TSI %=0.7 EMTEN) B 11=0.6 &S5 /REHT FALE KA %=0.5 A TIHAREEIT %=0.5
FATHTARG HT=0.5 /NEFHT A3 % =0.5
poaa ] 1 MZEATRFRR *=0.8 A& FFE=0.7 B4R *=0.5
105 |14 16 11 | f&ERH@Y 36° 53.7 N 140° 30.7 E 7km M: 3.1
S 1 BEATTEN=0.7 HaRTHiA /EE=0.6
106 (14 20 56 | ¥T& - AhiRETE 34° 13.5 N 139° 08.7 E 8km M: 3.1
BT 3 MR AR=2.7
2 RS %=2.3
1 FEARE=1.0 Frat=RE=1.0
107 |14 21 06 | #ik - iR 34° 13.6 N 139° 08.8 E 7km M: 2.0
R 1 PhEEs R 4:R=0.5
108 |14 22 25 | Fnagl AL 34° 11.5 N 135° 21.2 E 6km M: 2.2
e L o 1 o) [F S T4 % =0.8
109 (14 23 43 | #Hk - LRI 34° 13.6° N 139° 08.6° E 7km M: 2.3
BB 1 R4 R=1.0 FhEdeEA s %=0.7
110 (15 04 34 | EEFEFES 35° 49.8 N 137° 34.6 E 6km M: 2.4
FEPIR 2 ARHHT = %=2.0
1 ErepS =12 ERer$h - IR %=0.8 AHNTHH*%=0.6




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
111 (15 07 08 | #hs) I pGED 35° 25.2 N 139° 10.7 E 16km M: 3.0
) 1 AR T k=12 75 AT 45 % =0.9 ZRIFHIFR =09 #RZ3)1((LIALAT| AL %=0.6
112 (15 07 41 | FoskLbRARER 34° 14.9 N 135° 11.2 E 6km M: 2.6
Frep LR 1 FodkilEErE 7=0.5 Fusgklii—& T *%=0.5
113 (15 07 53 | ZEHRH 36° 39.7 N 141° 09.9° E 37km M: 4.2
IR 3 AEFIRTTHYERT % =2.6 Epkiic ) 1%=2.5 B riih)Il/NF%=2.5
2 EFKH FFEM%k=2.4 A NFHHERTAGS%=2.2 H 7 k=21 ik HfEx=1.8
1 RFAITHLE % =1.4 FReRHTITREIT=1.3 OV= bR s k=1.3 FrekeE b/IEx=1.3
A =12 DT BAmiia) k=12 #HREHANT *=1.2 +ifiE4=1.2
AT TIET k=11 kil k=1.1 Tl T x=1.0 &Mk L*x=1.0
WEERE TR O k=1.0 FEEAM T %=1.0 /NEEHEA *=0.9 &Mirhi%x=0.9
AKFHI4ET=0.9 BRETTEM =09 FRBrivL IR %=0.9 2334255 HHi AR *%=0.9
BN THEWE%=0.9 FREXH TR =0.9 BRENTIGHE%=0.9 /NEEH/MII*=0.9 /KT ifiH%*k=0.8
SR PR =0.8 AETHR=0.8 A FHPNEET %=0.8 KIFFENSTT = *%=0.8
O=bpail/ FRT=0.8 HUPEHIPIH:%=0.8 /9 HA3 ) Sifi W %=0.8 HRETri#EH %*=0.8
BYNFAPIH %=0.8 /NEEM EEE %=0.8 $RHFATER *=0.7 KIFEETIEAIE=0.7 BWENT A *%=0.7
TS ZAE % =0.7 RIMT/ N k=07 FUPETIMEE & 5%=0.7 $RHTI#RH=0.7 FHERH TN HMT %=0.6
R E TR % =0.5 KRUEIIBEIENT %=0.5 - XXMt *=0.5 SEEATFELI*=0.5 HFETi/14£=0.5
e 2 T A k=17 \WhEH=filT=1.6 \ VX il k=1.6
1 RESHTHRIARA K =1.4 R FRAA R =1.3 EJIIAE) 1 =13 fIanTila /me=1.3
ERILITHISIRGNT % =1.2 FAHZa%=1.2 WhE ALY %=1.2 W& diFEA *=1.2
TR INE =11 WhE T/ MaiE=1.1 BRILTBERE k=1.0 228 HiEilis AT %=1.0 BHik(Z%=0.8
)T IR %=0.8 REMTHER  LIFN =08 ABILTIEHA=0.6 —ATTMI:%=0.6 EATIEN=0.6
FENTHAASHT % =0.5 REFFGA T +=0.5 Z0E)1 /WL *=0.5 HiarTHieds  L%=0.5
RS IREFIT N A KA HE % =0.5 HEERT AL *=0.5
FiAIR: 1 KRHFHEEE k=11 HEmAE*=1.1 FH e THIRENT=0.8 40 E - BT *=0.8
BRI LT 9R=0.8 ARZERTF-%=0.7 /INLTFRRES % =0.7 BT HAT %=0.7
WEATRET) TSR %=0.7 H iRk %=0.6 4 FH2¥=0.6 FENTHREH:%=0.6
BEARMTSEAR %=0.5 HAHRE)[A]/[\)1]%=0.5
TFHER 1 FATIERT=0.6
114 (15 14 46 | FoskLbRAEER 34° 01.3 N 135° 15.7 E 6km M: 2.9
e Lo 1 BTG =0.7 SERTE7%%=0.6
115 (15 16 58 | ‘AFEih 39° 08.8 N 142° 26.9 E 33km M: 3.3
AT 1 —BIFATEIRAT %=0.6
116 (15 19 54 | FoagkLbRALER 34° 13.3 N 135° 11.4 E 4km M: 2.3
ROk ILR 1 Fskl B e S 7=0.7 fndkLmi—& 1 %=0.6
117 (15 22 00 | ZROEURFEES 36° 02.6 N 139° 54.5 E 47km M: 2.9
PRI 1 /NEET FER %=0.8 HGTMiE=0.6 /NEET/INI%=0.5 79Z235 5iiAFIH %=0.5
118 (16 04 03 | ZKIRIEH 36° 29.7 N 141° 04.4 E 28km M: 4.1
RS 2 BNEHEIVINFAR %=1.8 Oz AR flcs *=1.7 A HiNERT %=1.6 $#Mmk L%=1.6
RO O =15 RIS T E k=15 H Ik k=1.5
1 RYEHTREIGHT k=14 /NEEHEA *=1.4 OV= B0 80A) 1 %=1.3 KA T =1.3
HNEHT-HERTAGER % =1.3 A i k=1.2 i 4=1.2 ZKIHFEETIEE=1.2 1705 mLH *=1.2
W2 N=1.1 @kl PR =1.1 SRMTTEEH=1.1 SHTNER *=1.1 KFTiam=1.1
kT2 B k=11 WPlertistsk=1.0 A& k=1.0 #JIMaHE*=1.0 /N EEH/VI*=1.0
SEHAZE%=0.9 O/=B7ah il ERT=0.9 /EET EEE =09 MiiaH%=0.9
T Pk =0.8 O < IXHIXIH%=0.8 /A3 D S LM %=0.8 KM/ NE%=0.8
1THTIRRAE % =0.8 JRETHIGHE *=0.8 ARATAHRI=0.7 HRFi=FH *=0.7 ALZRBErTHEIT *=0.7
WRERE TG %=0.7 253 %089 AR %=0.7 &M P *=0.6 FR#riyT iR %=0.6
HPEHTAE=0.5 IR E LT %=0.5
THER 1 B Pk =1.2 FEAT%=1.2 FEHH R *=1.1 FHRH7ER¥EH=0.9
EEFERIG G %=0.8 £ HIT4%=0.5
119 (16 09 29 | =L 38° 53.1' N 141° 58.7 E 49km M: 3.2
R 1 KA TTED % =0.5
120 |16 10 11 | HREIR Tl 38° 22.0 N 139° 17.2 E 13km M: 3.3
e 1 AF BT %=0.9 K L =8 %=0.6 + LHiEHT=0.5
121 (16 22 35 | wEERAE 36° 55.2° N 139° 24.2° E 5km M: 3.0
TR 2 RIS R k=19
122 |16 22 57 | HiKWREEHS 36° 36.9 N 139° 29.2 E 6km M: 3.0

WA,

1

AR RATER *=1.3 HEH AT %=1.2 AtiThésrm +=0.6




MR | GRIRRE |4 fiaicy R RS b5
F | BBy | Hoo B G E D
123 (16 23 01 | tEERAH: 36° 55.1' N 139° 23.8 E 4km M: 2.9
e 5 2 M BT k=22
NS 1 Rtmide*=0.7
124 |16 23 05 | fafliaE: 36° 55.2 N 139° 23.9 E 4km M: 3.4
e e 2 PRI FRJE k=24
1 RN %=0.6
LN 1 BXhidoi*=1.4 AYEHiAHE*=0.9 HYtliPekamT +=0.5
BRI 1 AEARHVINI=1.0 (R HTTRARET %=0.8 F sid8itH %=0.7
125 (17 01 28 | ‘&AFWHh 39° 34.8 N 142° 40.9 E 60km M: 4.1
HARIR 1 P& ERT3E(A%=0.6
AT 1 SATHThFENT%=0.9 2&A T HBMT=0.8 [LIFFT AR %=0.8 —RIri=stRET %=0.5
126 (17 01 41 | JeEIyh 41° 54.6 N 142° 23.9 E 69km M: 4.1
JbiBE 1 BREATRYART %k =1.1 25BN % =0.8 JEEHTEEE=0.8 JHHAHT#]R.~0.7
O AT ERNILTFIT=0.7 BEETHRRENT % =0.6 FrOV=AM] = HR] %=0.5
AR 1 P ERTEAK=1.1 BOEFNEER *=1.1 BB XIRN %=0.9
127 |17 02 27 | ‘Ehkiih 38° 51.9 N 142° 01.7 E 46km M: 3.4
AT 1 —PBIATRNT %=0.9 —BIrTRMRNT %=0.9 JARVERTIE/H7=0.8 JARERT KANIERT=0.5
IR 1 KAWAT D =0.7
128 (17 02 53 | EFFEALHS 36° 37.2 N 138° 2.4 E 1km M: 3.0
HEG I 1 2T =12
FBPIR 1 (L NITHRGEE =1.3 ZEIKTHZEN k=1.2 (SURMTHUFREE k=11 REFmHiE-EFIT S %=1.0
1L/ PNETEES=0.7 HHEHITE %=0.6
129 (17 06 14 | FHEREASH 35° 38.1' N 140° 52.3 E 15km M: 3.6
THER 1 JEFTEA %=0.9 JHATHEE*=0.8 FHH{ K %=0.8 ZUHT/\Nthk=0.5 $kHA5EHT%=0.5
130 |17 10 20 | fafREaE: 36° 55.2 N 139° 23.9 E 5km M: 2.8
e 2 @A B k=23
NS 1 HYiigoc*=0.5
131 (17 10 21 | f@iElRsHE 36° 55.2 N 139° 23.8 E 5km M: 2.5
e e 2 RIS R % =20
132 |17 11 05 | #ENEIHE 27° 33.6 N 128° 53.8 E 18km M: 3.2
FEVL IR 2 (FLRTEHL %=1.9
1 fEZ T *=0.7
133 |17 13 16 | i - eI 34° 24.6 N 139° 16.1' E 9km M: 2.3
HUAR 1 FEAAK k=1.4 FEFKRIE=0.9
134 |17 17 26 | A ITHE 25° 59.4 N 126° 51.9 E 48km M: 3.2
FUBHETES 1 JCKEET#A #=0.8 JCKENTELEE %=0.5
135 |17 18 33 | #ENSITHE 27° 33.5 N 128° 54.2 E 18km M: 2.5
JEVR SR 1 BHILETEHIL%=0.5
136 (17 19 20 | 7RHRUph 36° 32.7 N 141° 43.2 E 60km M: 4.4
e i 1 HEATITREIIT k=11 “AERE *=1.1 EHE AW *=1.0 EJIF/E%=0.9 REH T4 %=0.8
TRJIBT) 1 %=0.6 ARLITHMRINT %=0.6
PRI 1 BB N k=12 A TNERT =11 mFkZeR) [ %=1.1 OV Bl k=11
Rk PRk =1.0 AEMmiaH*=1.0 AFiTgek=1.0 HHEFHME*=1.0 WA ETHE O %=1.0
HNEHHERT A % =1.0 AFITHLE *=0.9 KFHi40=0.7 #HRK=il5 *=0.6 1ifiiH4=0.5
=Bl FRT=0.5 ik EilbiT =0.5
FiAIR: 1 #FI3ET=1.1 Eifia s %=0.9 BN %=0.7 /NUiiEAs *=0.7 IZEsILHi%=0.7
RER IR 1 HHEATERET*=0.5
137 (18 01 30 | by v 42° 09.9° N 139° 18.0' E 11km M: 3.0
AiEE 1 BRHRTHR %=0.5
138 (18 01 42 | FKIIEFES 36° 04.8 N 139° 52.6° E 46km M: 3.4
PRI 1 BT k=14 ERmaH%=1.0 BJITEHE*=0.9 HIETHHEE » & %=0.9 HPET/4=0.9
TR 4=0.8 BENTHEAT *=0.8 A T *=0.7 AMiTi#fld=0.7 /EEH EER%=0.7
A %=0.6 D <IEHI/NE%=0.6 LTI FE*=0.6 AN *=0.6 TZEHTAIKNT*=0.5
BT =05 i HRMT{EL % =0.5 A7/ \4$=0.5
NS 1 FEE THHCRERRT=1.0 M TiA R *=1.0 HiARITENT=0.8 NEFiiHY*=0.8 B4 K *=0.6

BrER

W THEET=0.5 SASHHTH%=0.5
"ERMTAEIR % =0.8




MR | GRIRRE |4 fiaicy R RS b5
S| B Ry | & oo EE G E B
139 (18 08 00 | /\ LB 33° 19.4 N 139° 18.9° E 27km M: 4.8
HURCHR 2 T =4R=2.0
1 JKTE L2720 k=14 JOCATHEN7=1.2 FrEAtKIE=1.0 AEEEfraRE=1.0 MR %S *=1.0
140 |18 10 06 | J\SLE:THE 33 20.0 N 139° 23.1 E 35km M: 3.5
D 1 J\SCET=4R=0.7
141 |18 13 59 | REEIRILER 36° 54.1' N 139° 23.6 E 5km M: 2.2
e 0 1 FBLI A FAlE 5 =0.9
142 |18 18 51 | #rls - M ETHE 34° 18.3 N 139° 11.1' E 5km M: 2.3
HRUAR 1 H k= URE=0.8 BrEt KF=0.7
143 (19 01 36 | #EEERD 37° 40.5 N 141° 44.9 E 46km M: 3.8
e e 1 JRITHT1H5=0.5
144 |19 03 59 | f&&REEY 37° 07.4 N 140° 41.2 E 8km M: 3.0
e 1 AT TSRk =1.0 HREATAN) 1 4#)11=0.5 Vo & 1fi =Fnii=0.5
145 (19 04 02 | fRERIGEY 37° 02.4 N 140° 38.9° E 9km M: 3.5
e i 2 IR HER k=1.6 7)1 M) k=1.5
1 BT AT k=11 AT Fisk=1.1 HEMTI IR 1=1.1 )1/ NE % =1.0 HIaRTHIA+/EE=1.0
146 |19 11 22 | FhidesEs 36° 37.8 N 140° 36.6 E 6km M: 3.8
PRI 3 BBV % =3.1 B Cifif& i %=3.1 WK HTmEm=3.0
2 BNTHTERTAG % =2.3 M *=1.8 E#kri FF*=1.8 WK MnEnT x=1.7
FAKTIZE )1k =1.5 B s % =1.5
1 HEEKH TR HEET k=14 FREKEmAT % =12 W eIl *=1.1 AT mTFEHT*=0.9
KFHIART=0.8 OV= B misia)ll %=0.8 FHEA = L/ NF%=0.8 HRETHIHE*%=0.8
AT %=0.7 IRBITAEH *=0.7 ALARIETHYFNT %=0.7 Oz He) mirEs *=0.7
e i 1 EWATET 9T % =0.5
FiA UL 1 HEATRE) RT/IN 1| k=08 HHAIE ATEEEE%=0.7 IS LT H=0.5 =& Hih BT %=0.5
147 (19 18 35 | Zglih 36° 36.00 N 141° 03.4 E 46km M: 3.6
PRI 1 HSZAB) I/NFRE % =0.9 F ek ETidbET %=0.6
148 (19 19 47 | FREEHs 37° 18.5 N 138° 52.8 E 14km M: 2.6
Frisi 1 /NFAHRIN=1.0 R/ NERTER %=0.8 AT %=0.8 M L&HETIR*=0.7
INFATHIERT %=0.7 FMiHI 0 *=0.7
149 |19 21 05 | fRREAE: 36° 55.0 N 139° 23.4 E 4km M: 2.0
e 1 FRLISFT EAfE % =0.7
150 (20 02 45 | A 31° 36.5 N 132° 01.2 E 41km M: 3.9
I U 1 ST k=14 PEERTT o %=1.0 HIRTitarE+=0.9 AmiiiE=0.9 HEEFH THER %=0.7
JUFERT 7 % =0.7 HESERHR AEBAR % =0.7 VEHLHTELMENT %=0.6 [EEHTARE %=0.6 /IMATiE=0.6
‘EIRTTFEE=0.5 A& HEHR %=0.5
IR 1 KIRHT{fE % =0.5
151 (20 14 02 | ‘HFRp 39° 46.4 N 142° 22.3 E 30km M: 3.8
AT 1 EhiiHEE*=0.5
152 (20 23 12 | FHERALHE 35° 42.1' N 140° 51.0 E 13km M: 3.8
PRI 2 PRI % =1.5
1 FEBCTHTTIR A % =0.8 ZIEENE Ti#kIE=0.8 AERITiAH+=0.7 Falkri4al =07 HEHFIH:-*%=0.7
T HD D BITIFNH *=0.7 $RHETHER %=0.7 KWHEIETT=E *=0.6 %a%z %é =0.5
iR 4=0.5 WPkHZPN=0.5 ARHfiE=0.5 /NEER EEE%=0.5
THER 2 JEfiEAEk=2.1 Sk ENT k=1.7 JHT#KE *=1.5
1 JEM=s=1.4 JAHFRIEZ N *=1.3 FERA{=E *=1.3 $k7H)IIOMT=1.2 AT %=0.9
MEEHTA R %=0.6 $kFHiKEH=0.5 Tt T%=0.5
153 |21 12 21 | fEiSRaE: 37° 16.9 N 139° 54.8 E 8km M: 3.3
BRI 2 FHRETHEA %=2.2
1 TYOTERk=1.4 FRHEATHS=1.4 REARGAS I *%=1.0 fbasAS HjE*=0.9
PSR 5k =0.7
154 (21 17 59 | ‘=i 38° 38.2 N 141° 54.1 E 48km M: 3.5
HFR 1 —PIrTIEET =07 JRRIETTE)IFT=0.6
BRI 1 KUUVERTHRESNT %=0.5
155 (22 00 28 | @& EHh 37° 31.1 N 141° 44.8 E 39knm M: 4.3
IR 2 ARTHRART % =1.5

1 AERmkER=1.4 sty NR=1.3 2B 2 1R =1.2 [LocBI AR % =1.1 B |IIRET{) | % =1.0
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HARESTH/INEF 5k =0.9 AT % =0.9 HAAETiIRA *=0.8 A METiAMH*=0.8 BN/ NE*%=0.7
BTN %=0.7 JEERTFIM %=0.7 f&iiRENERT %=0.7 SEMMETHE=0.6 SERT4H *=0.6
HATTEERNT =05 ARSI Ei%=0.5 Bl HEMT=0.5 A&k ERT%=0.5 ZE5i4E4E *=0.5
FOSERTALE =1.8 FEATTHAHET %=1.5 JRITAT4MG=1.5

RN TIAA k=14 BTN FEU sk =1.4 E)IRINE %=1.3 HATHERSHET %=1.3

FIYAT T ] sk =1.2 ZEAS) | [Haiis ik =1.2 W& 1 =filT=1.2 FEHTHl*=1.2

FRTHTAZERT k=11 BTy N k=1, 1 FakEES AT X BT sk =1.1 JIPIAS ) PR % =1.0
TARATIHE % =1.0 AEEATGHFRR %=1.0 ZAMATIEHE *=1.0 FEFEE TR XPENT %=1.0

R B REPRT PGB R HIE % =0.9 A THIERNT %=0.9 R SJEdiZE LmT *=0.9

PR THIEATIX = 5HT=0.9 JIMEATER / 1 %=0.9 WX AN %=0.9 KB iR %=0.8

A RTHAA A EE=0.8 ARILITTIHFENT %=0.8 /NEFIT/NEFHHT % =0.8 FHAITIARG WT=0.8 FRITHERMN=0.8
SEAHTAEEE %=0.8 &S FHET) T %=0.8 2921177\ k=0.8 T4 %=0.8

JUPRS BN/ INLSFE%=0.7 KRERTEF | k=0.7 “FHASKH %=0.7 #JIHT7)1%=0.7 SEWTAI *%=0.7
TARATHIA A %=0.6 ERILTHEIH=0.5

36° 27.27 N 140° 36.00 E 56km M: 3.6

REMTHEEREA % =1.8

MERTH A FEE=1.4 F)IFINE k=14 FRHTET AT k=12 SRR SRIG =12 #)IMT7) 1] % =1.2
Pk =1. 1 R TR % =0.7 SEAMTREEE % =0.7 SRERMTHEE N LEFPN =0.6

SRR =22 Bk =21 ERERE AT % =2.1 R E T 1 k=20 AHTHLH *=1.9
R E T /N =1.9 BYITEE*=1.9 BJI[TMPIH%=1.9 A & *=1.8 HEiiFIH*=1.8
AFTIT=1.7 FEARETTRNT *=1.7 JRENTAER k=17 SUETHEE  E%=1.7
HAZHBIINF R =16 HL-FERTACHS k=16 IRFJHIGE *=1.6 OV=bH7aofigia)l*=1.6

AT THR=1.6 Lt e k=15 SERTFAE L %=1.5 SRAE *=1.5 IRfiH4=1.5
AKETHTTIHT sk =1.4 /KEHARET %=1.4 FRHREILST %=1.4 /NEER/IVI *=1.4

A THERE +=1.4 SR T4 *=1.3 BEFM %=1.3 JREMFEE =12 /NEEHRA *=1.2
HRERETAINT k=11 Apdispdek=1.1 AFiPdk=1.1 EEKETHEIT=1.1
OEHTRER*=1.1 DX *=1.1 FHKHTITRE=1.0 /EEl EER*%=1.0

T HDN D S RFNH %=1.0 AR/ \JF%=1.0 JbAIHFERT =10 )\ THHEE4%=0.9
BORMIL*=0.9 /94289 S LM %=0.9 HFEAETTRFNT %=0.9 OV basiiEis %=0.9
FPEHT AL k=0.8 FFEAH THRTHET % =0.8 +IfiiER %=0.8 > < X/ ¥ *=0.8
kT A % =0.8 HIFEREHIETE*=0.8 SFAHIRMI*=0.7 HFEHIAE=0.7 1T/ HFE%=0.6
BEBTHERT %=0.6 FHATHA T %=0.6 S#kTZR)11%=0.6 FRikhiiTIRH *=0.6 fiiifik+=0.6
TETAIGET %=0.6 EHF=ZE*%=0.6 FEATRA*=0.6 TLERT/IMEM %=0.5 IFHi#EH %=0.5
SRMIFTES %=0.5 KIEMT/NE*=0.5

MM =19 EiiifaE*k=1.5 & AT 1=1.5

REFTGE b k=14 BEiTEIT k=14 SN %=1.4 ST R=1.3 IR *=1.2
HAHRET) M FSHA % =1.2 AHAHRE) ET/N 1 sk =1.1 FERE i ERT =10 EJii7EhT %=1.0

S E TIARERR=1.0 HYErT R I NESRAIR %=0.8 ik & < HieEsdE)1%=0.8 H¥:riTirk=0.8
AT RA: %=0.8 ARZEETF%=0.8 ARG ILTIAAT =07 FECETIE*=0.5 ANl *=0.5
SERITRIENT % =0.5 FERTA BN %=0.5 SORRTIbER RS %*=0.5

HAETAElT %=0.5

R4 %=0.6 AEH FRE=0.5

MaFiERT=0.9 BF T EERE %=0.5

32° 41.9 N 132° 16.5 E 38km M: 3.5
TEETTRAT %=1.5
1EEMT T E=0.9 KHBTELR,*=0.6
ERNTANEE k=11 RN AR k=11 FEENTIGN k=09 EFNTHI*=0.8 FABFATIAN, %=0.5
FRSTIELENT %=0.5
PEAETTRS R. % =0.7 PEfiiAokif=0.6 FEifiLii =06
SRR BT PNA 47 50 =0.8 SERI AT LIRNT 7T % =0.8

36° 52.7 N 141° 18.2° E 30km M: 4.4

FSERTAL =21 JIHPNAT PN % =2.0 EHIBTAL] %=1.8 JRITATRMAE=1.8 FHAITEIRAT %=1.7
JUPKS BN INLAE%=1.6 WX i/ Mai=1.6 KAERTEF |-%=1.6

TAATE k=14 TAIRTIENE =14 WX TR k=14 1SR R AGA R MR =14
FHASTHGERIT % =1.3 FATTEREEAT *=1.3 WX i =FMT=1.3 FHF7KH *=1.3 JIIFNFF)117N=1.3
FREMNEAVES %=1.3 \WhE HEIT =12 [HH A k=1.2 BE0HEHELNT*=1.2
JNEFITHGE k=12 fRIE T HCENET k=11 JIMRATAR./ 1k =1.1 HATREET =1.1
FAFAS T/ INE X sk =1.1 BRILTISIRGNT =11 JERITHIRERIA % =1.0 fEATEHRR £=1.0

S AT TR =10 FE TS %=1.0 WENTHIA - EEF=0.9 “ A4 %=0.9

AETAE %=0.9 F)IF/ING*=0.9 WhEAREN Y %=0.9 ELTiBIR*=0.9 & TIAANT=0.9
FEFT THAA %=0.9 FIAHIE TTFEE X PEN] % =0.8 {1 ] k=0.8 /NEFM]/NEFHIT % =0.8
TS ISEPIT T ALE S A % =0.8 FRRTTRANT %=0.8 &5 AREFNT=0.8 HAITHI5IH=0.7

V) WS T % =0.7 ARLTTEA H=0.7 & RNTIREG=0.6 KREMEH:*+=0.6 #JIINT7JI[*=0.6
BrHIMT S MY [NeR >k =0.6 PR TR B X HRE=0.5 294811 /\II L1 % =0.5 FatREHiEITX =&01=0.5
AR TR % =1.7 AR TBENT =17 B SZiifh) /e k=1.5 EkiiZ )1 %=1.5
BUEF A k=12 ANCTiAT*=1.1 KA %=1.1 A i+ ERTA *=1.0
R E AT %=0.8 U= H/RM T HCA) 11 %=0.7 HHeKHTHETERRT=0.6 4FHHiaH:%=0.6
iR 44=0.6 R E LT %=0.5

SEVHETIRE k=13 £ HUTTE M *=1.2 BERTIIE %=1.0 B30 IEITA) 1 % =1.0 A5 5% XA %=1.0
LEFNTARG=0.8 A hidkAmT *=0.8 (LTl 7 AR*=0.7 JQFITHRE *=0.7 #FHIETAFH *=0.6




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
A& INAEE=0.6 AT EEINT % =0.6 {ILE#EMMGE R =06 M H%=0.5
iR AXILE %=0.5 RIGHE) = HIT=0.5 lIAEREFX fiR=0.5
IGAS 1 KRHTT BT 4 7=0.9
N 1 FHECETHHIRENT=0.5
159 |22 14 31 | HARRE S 40° 29.6° N 142° 02.1' E 58km M: 2.9
HARIR 1 JUTEIT=0.5
160 (22 15 53 | EHEMHARER 42° 19.1" N 142° 59.7 E 54km M: 4.8
JeEE 3 BT REEERRT k=28 JHINERTRANT % =2.7 i R=2.6
2 (HANTERGE=2. 4 R RIITAEAE % =2 4 [RRRTIPAE=2.4 [RERTAMEE=2.4 2V LTV Hillfix=2_3
TN % =2 3 BRCITSRAT % =2.3 2 0 HHTH Hsk=2.3 I A % =2.2
P EETTE 1 455k=1.9 SERIRTERk=1.9 FrOV=0 0T = A HAT k=1.8 FrOV=)ETHHNLTHT=1.8
HEIRT 6 2k =1.8 BN SEE AN % =1.7 BT 2 4% =1.7 HrnHTdLENT %=1.6
20 BETAHT=1.6 FEIEHTHRET =16 EZHTRE 1 43k=1.5 ABIETIL 2 T H=1.5 rPFLINATEE 2 Sk =1.5
SEEMTHRN %=1.5
1 BREEATHHENT sk=1.4 HrOVE2 M EPNEISENT k=14 5 ERSTH] =14 H50TESEAF=1.4
ABIBTTARGMT k=14 FIHERTFE 1 Z5%=1.4 FehvlfER]%=1.3 Z AT R «=1.3
FRIRTART 5 =1.3 HrfHT 2 4% =1.3 SIErhfsenr s k=13 HAHH 45=1.3
TS KETRS 4 25=1.2 _EH0RET Eisk=1.2 BEETART %=1.2 KR ART %=1.1
TFrEmiAa R k=11 JEENTEEA=1.1 TRk FniliRiR *=1.0 EiRnEKeE *%=1.0
FIOTEDETEFPNEIRI=1.0 AZEASHTIES % =1.0 ZOPHTIE0 A0 % =0.9 —A5Ti=EmT % =0.9
F 5 BT 5 5 =0.9 AL AT XALAR =09 FIFEHTSHINT R BI1=0.9 FLIERS X EEIN *=0.9
HEAT L % =0.8 HIFKTHIEMT=0.8 fZHMTAL 2 55k =0.8 BIMERT AR %=0.8
FIOTED TR R % =0.8 NERAHETT AT ANT % =0.8 Frmiibs¢=0.8 JTAITT#IT %=0.7
BIAERTHAR=0.7 BIRETT AT % =0.7 FUIUERIX b A4 U %=0.6 FUIRALIX K %=0.6
H iEHi5 B ST H & % =0.6 35 7JEMTeh 1 % =0.6 FAEMTARNT %=0.6 XXBITARLANT %=0.6
ALK ST % =0.6 i T7%Zsi=0.6 /L%0T H5=0.5 FELTITE I +=0.5 fIE RIS %=0.5
/NIRRT =0.5 FBIEFHESIEH % =0.5 Sxriifif-Rl] *=0.5
BRI 1 BOEAE SR R =1.2 B ERT5E{A Rk =1.1 FOEA/NEERR %=1.1
AFRR 1 &M E LX) *%=0.5
161 (22 17 02 | ‘&FRih 39° 20.3 N 142° 04.6 E 48km M: 3.8
AT 2 KT RASERT=1.6
1 e e T k=14 AR k=14 —BOATSRMAT k=14 220 H HBHT=1.2
—BAMTH LR =0.9 Jb EHTHZEET%=0.9 BJNHIRRX %=0.9 — B T/EIHT *=0.9
—BATTEEIRIT % =0.8 BTN % =0.8 [LHMTRIR *=0.8 {EMHNTHENK*=0.7 FIRATERE %=0.7
KARIETTIE) | IRT=0.7 mEFT=~FIT*k=0.6 BXMIFHTILTHT=0.6 M & LIXHEER %=0.6
FERATTEILXH) [ =0.5 JHANFETREAT % =0.5 i HEE*=0.5 {E&mHAIENT=0.5
At ErEIT=0.5
IR 1 KAETHRESET %=1.0 KAl78Hi7RE=0.8 KAVAT#) i %=0.8 T4k %=0.7
P =TGR 11207 SEUEHSEE=0.6
162 (22 19 13 | PUERH 33° 34.5 N 134° 47.00 E 35km M: 3.7
e Lo 1 H@Emy4A*%=0.7
T 1 ZREAT R k=12 BIVEEMTHEET k=12 25MTPEOM % =12 [Ra 7L M k=10 AFHATE)I|F%=0.8
HEF T EHT %=0.6 EBHART-%=0.5
163 |23 01 10 | HiAWALES 36° 52.7 N 139° 25.5 E 3km M: 2.5
NS 2 Bk x=1.6
164 (23 11 46 | ZIIRALED 36° 37.00 N 140° 36.1' E 4km M: 2.2
PRI 1 B7THIBN /N %=0.5
165 (23 12 34 | ‘=gl 38° 21.1' N 142° 17.0 E 29km M: 4.1
AT 1 —PIrHERAT =10 —Bgri TIEEHT =08
IR 1 ARTHAERT % =11 & INAE=1.0 %) M7 Z4g) 1k =0.8 f&midt LT %=0.7
BT AENER %=0.5
166 |23 17 10 | EEFRAHL 36° 26.0 N 138° 02.00 E Okm M: 1.4
FBFI 1 HAAPESR %=0.6
167 (23 23 21 | FERALER 36° 35.3 N 140° 35.6 E Skm M: 3.3
PRI 3 HSZHBIINFE %=2.6
2 HFEKHETHTREIT=2.4 B ZhiiT*=2.0
1 BN FERTAERk=1.4 Fhe KM k=1.0 FEEAXMTHASIT%=0.8 JFEIHi{EH %=0.8
168 |24 04 54 | &R 37° 27.8 N 141° 15.5 E 63km M: 3.7
IR 1 [och AR % =0.9
e e 1 HATARGIRT=0.8 HrHum 4y NE % =0.7 HAfTH#lERT % =0.5
169 (24 17 31 | Ko 32° 00.4 N 129° 49.6 E 10km M: 2.6

FEUL RS

FEEE) | [P T BRI =0.5




ER)

pesSiiza
& oo E

%
¥

e
G 2%

s Pzl

171

172

173

174

24 19 36

25 0530

25 11 00

25 18 18

25 2325

K i
RV RS

S
e

1

R P i

RV

R

EHTR

R

_»
Hal
iy
Pt

TFHERALPEEL
BRI

FORER

AU

1

—

2

—

—

=N

—

2

27° 35.2 N 128° 46.6 E 16km M: 3.2
FHLmTFHl sk =1.1

42° 2.4 N 145° 29.4 E 67km M: 3.8
HRaRTHIERE % =1.4 HRasTHFEREIR *=1.0 FLEITk 2 4% =0.8 BT HA%=0.7 AREHHLDON *=0.7
HeHHMTEEZ6 41 %=0.5 261 JEMT 261/ % =0.5

31° 24.9 N 129° 27.0 E 8km M: 4.1
S OFEATKINNT *=1.0 FEVEETHE AN %=0.8 Rhlis &M=0.7 FEVLE T FHEst=0.7
WEEE) | PNTIAF T 3 =0.6 V5 & ERARBFHTHET % =0.5 RN ATsEENT o2 N % =0.5

38° 18.9 N 141° 36.5 E 55km M: 4.1
—BErTERARNT % =1.8 AT AR =1.6
— BT k=1.4 —RBIrTH LT k=13 —RIrTHERIT k=13 —RIrT/ERMT k=12
e FE T v FEET k=10 RARPETTAE) 1 M=0.9 284 i PElT % =0.9 {EMHET{HK%=0.9
KANTETHRERT %=0.9 BN TARIRX % =0.8 BN [X %=0.6 —BIri KHMT=0.5 It -AitE=mT%=0.5
FETINAIE=2.3 21T 42 ) 1 [ =21 YERETIIENT k=1.9 HUANE /NG k=1.9 Sy *=1.9
TETIRAT=1.8 WAEETE=1.8 RATR AT k=1.8 fr&mi RMENER *=1.8 bRy %=1.7
S BT k=17 KULETTERNT % =1.6 =4 | IRHTAT) | %=1.6 &= X 51T *=1.6
TAITHIT =16 BRI HFINT =1.6 F KN =15 F KT T =15 RIGFH M *=1.5
K Hm=1.5
SEIRTEEEY=1.4 BRIl % =1.4 SRR k=14 EhE IR k=14 A HFEXKA=1.4
BANETHRA k=1.4 KIFHHESE *=1.3 IHZEH=1.3 (IEFHEXIEL *=1.3 IIHEHREFX fii=1.3
FIFFETRF sk =1.3 KHPHTH) N % =1.3 B KR T % =1.2 (U5 RS % =1.2 &) [ %=1.2
TR T k=12 BRI LET k=1.2 SEHBTHM=1.2 FE =Rl k=1.2
EYRANSERT AT k=1.1 EFEENT F/NE k=1.1 RAUATTIIRE=1.1 Gy BT E ek =1.1
KIGFE 1% =1.1 BEFHAk=1.1 FERAAEIL % =1.1 KRN %=1.0 ZEIRFTHIR*=1.0
NI RI=1.0 AlE AR R % =1.0 BEFHTSE *=1.0 [LochTyEAR *=1.0
AR % =0.9 FI ARG % =0.9 m —Fel 8 11=0.9 EikaE BN ARWIER %=0.9
RIGFTIAA L % =0.9 BT HANT %=0.9 A&ARMN=0.8 Kkl = AHT=0.7 F&TIFEEFA %=0.7
FrERTA % =0.7 FEFHTEIR % =0.7 KR LA %=0.7 (IHEIERTE %=0.6
SAARTHASTERTTE)[[PN=0.6 RFART ] % =0.6 F KBk k=0.6 TEH#HI%=0.6
AT RN %=0.5 &I %=0.5 lIEHFHEREE *=0.5 fAHTifAH*%=0.5
BREEATOIR % =1.2 1@ OHERY T % =1.0 f&E0HEREILINT*=1.0 AEHAE %=0.8
FRESTIHAS % =0.8 BrHumTAHY M % =0.8 1@ STTHAZNNT %=0.8 FEFHIE TG X PERT %=0.7
FATHTERIEHT k=06 RIAHMETIFES XAH7E=0.6 MAITIHLENT%=0.6 “AMHMH%=0.5

35° 27.3 N 140° 05.5 E 68km M: 4.2
HNIMHE*=1.5
AT - 43 % =1.4 FNITHmERD %=1.3 Felfi AR %=1.2 &L iLiEsE =12
SV FEREX RN *=1.0 FHETTANT %=0.9 FETEKI1E%=0.9 JIIOTHA*=0.9
ZIRHITERE k=09 MMRETAAR %=0.9 Sz EHkX R %=0.9 AREM*=0.9
SV FAEXEIR*=0.8 FHHT_LFH*%=0.8 FtHiAR*=0.8 &£ =FHFEAIR*=0.8
JISHTE =0.8 AR ALAZKAT %=0.8 NIZEHIEE %=0.7 S\ = EHfXEn=0.7 JIBHERT=0.7
R FBREF £ =0.7 /i x=0.7 EARMTHRN *=0.6 TR *=0.6 Hii-H%=0.6
V- E WX FERS £=0.6 F=AEHAFHTE *=0.6 JIBHREIT%=0.6 SRR 454 %=0.6
UV FRKES %=0.6 AFETT FRE=0.6 £FHH*=0.6 I\ /= FEMIXKAN %=0.6
EAETAER %=0.5 % 0S4 *=0.5
TR % =1.6 ATENIARAT *=1.5 ST FEEF *=1.5
PTG % =1.3 Bl RS % =1.2 FFHRTIAIA *=1.2 FFERAT AT Ek =11
SEILTHRZUE=1.1 FEmiAf+=1.0 BERTHERITEA%=0.9 HiiENT=0.9 L4 *=0.9
HE)IITH )\ £2=0.9 W& IITITRAYE % =0.8 THEERIIXIEIHNT % =0.8 MsRTis4:=0.8 A/ F3#=0.7
ARSEEETTRH=0.7 WSHTIHTE %=0.7 THEFIXENT % =0.7 THHEXI5WDA M %=0.7
WA 5 %=0.6 TIER X Fhk=0.5
MTH A PET % =1.8 BTSSR %=1.8 N\ FFiiizi*=1.8 TR T HKKFI=1.6
M AT % =1.6 HAULXVE 2 ik =1.6 FATivE->> U f%=1.5 HAFLTHANT *=1.5
SNERINIRT k=14 AKX ANT %=1.3 WTHTZRE =13 SR *=1.3 FRiisRHE *=1.3
FRCHTE R A % =1.3 B RARZEE) | %=1.3 H& DEHi4sx=1.2 T AARA *=1.2
BT A k=12 HRHAB XA % =1.2 PEHAUHTHRIT %=1.2 BRSO AR =Y & %=1.2
HRUORIR R k=12 FARFTHR k=11 FdiEXm AT k=11 Ul IKFEA k=1.1
FURTRHARE LR =11 \FEAia) 0T k=1.1 FRTREXHMT k=11 FTRHEXAP H*=1.1
EorFiiTA=1.1 [ENFAS *=1.1 =¥ *=1.0 BBETTHPET%=1.0 &l B aFm*=1.0
B KBk =1.0 BRI AR =R R % =1.0 FAUiBRmE STk =1.0 FAGH) KAL) %=1.0
BRI N RS % =09 B R T BT =09 FUEpX f1esk=0_9 FTrHEF XTI HH *=0_9
BT & & %=0.9 FETHIEXOEAS % =0.9 FUAUHEEAX A %=0.8 HAUE X AR %=0.8
FHUFH T AR *=0.8 HURUHHARX T %=0.8 HITTHX M % =0.8 JH/LHTAIRANT %=0.8
TR B XA k=08 HURALXARPIRE %=0.8 HUAERRZeHE=0.8 HfFmiZENT %=0.7
BUCHE R IR % =0.7 BT Bk =0.7 BB B AT %=0.7 BT RHKARRE *=0.7
TR LK A AR T 5 =0.7 RO RBM R %=0.7 FUE S KA k=07 HA0T A X k=0.7
FURHEIX H 4% =0.7 HURPEREIH 1L %=0.6 ZEETESH*=0.6 FHETHEM=0.6 i1/ NGHT %=0.6
WK X %=0.6 \ EHiBEHT=0.5 HRTSIXIAHT *%=0.5
RRIEARZ) XA FHNT =23 SRIEHALX A 5 AT % =2, 1 RRIEAHAS) 1 KA RS % =2.1




MR | GRIRRE |4 fiaicy R RS b5
F | BBy | Hoo B G E D
KFATT PRSI % =2.0 REUGA X = 5% =2.0 R HERAE)S frk=1.9 ARIGHIX | B T =19
FRIOR T R IX FE T % =1.9 R LFIT=1.8 FRIRE XN/ RN *=1.8
BRI XHLINT % =1.8 FETIED =1.8 3 » RT3 7 IR=1.8 R IEA *=1.8
R X LA % =18 =JiikiLmT sk =1.7 SREEX) I HE0T *=1.7 )G ERiXERIF*=1.7
BREFRIX S ok =1.7 BRI PR k=17 SARRTHR=1.6 FHEIFREXALRIN *=1.6
J U VISR E BT sk =1.6 RAUUEE LIRS % =1.6 JIIRFERIXEr | %=1.6 BERTHIHR*=1.5
R XS k=15 BRI L IR % =1.5 JERTHREY k=15 BRI XPotH *=1.5
B R 48 5k =1.5 FRRSERE X ARIRES k=15 RERAIRIXAEHIAm *=1.5 REICEE R XS R, %=1.5
IR X MERT k=15
1 AR RIXORIAET k=14 ARIRPE XIAANT k=14 BEEA X LIPRET k=1.4 AEEEIb X R AL *=1.4
FEBRATE T =14 BRECER/IVE 74 % =1.4 BERTTER *=1.4 JEARTF0T %=1.4
FBRCE TP X i k=14 ABREGEX I k=1.4 AERAIRX A k=1.3 FEAIRIXFRTk=1.3
RIS KRR % =1.3 JIIG=EX 7 FAMT % =1.3 BRRT AR *=1.3 21T e L%k=1.3
NI % =1.3 ZREFHTERE=1.3 HFHITHARE *=1.3 MHEITAAHE*=1.3
FEUEER 1 IXB% -k =1.3 RRTTTRBE *=1.2 32 1Tl sk=1.2 FEIHMIRA *=1.2 FHIRATIEA k=12
RRENEIX | ARRT s =12 FEARERRE (X sk =1.2 RRIR XRIIRIT % =1.2 ARICHEm XL LA % =1.1
RAEIR X AT k=11 2 I[HT A H k=11 BRIECR T AR IXAPRT k=11 mEeiRIA *=1.0
J IR LIRS sk =1.0 A4 IR HIT A 15k =1.0 JIIFZEEX 8= % =1.0 AR I X 4 % =1.0
WFEEL TR *=1.0 BHETERX 72 & bV k=1.0 ZREFHER %=1.0 JEARTFART *%=0.9
FUEBIT A % =0.9 BRGNS iRy % =0.9 JIIREEX FAFAE % =0.9 PR MNT % =0.9
R X A AKGE % =0.9 #0431 LAERTILAE % =0.8 I RX/IMEHRRT=0.8 KZER THSANT %=0.8
SR TIHEEAT % =08 REIEEHEXE LS % =0.8 BRI X 0T %=0.7 KRBT A 7T%=0.7
RRHERIX A )1 %=0.5
] Uk 2 HHrERTZSEA k=22 BLE k=19
1 EEEWERT=14 FUoEMEM*=1.2 FERPHE7 77 R=1.1 {#EEfH*=1.0
BETIREI0=0.9 JPERET I %=0.9 PHFANT V- %=0.9 & Lrfikii*=0.9 Bk *=0.8
BT T % =0.5 MRS %=0.5
PRI 1 YOHIEFH=0.9
(LB 1 B OHRTER k=14 T+ OHETN=1.2 ZBR AR k=11 RS BT %=1.0
LB RARIT % =09 FHMCHT/ BT % =0.8 KA HHIAT] %=0.8 MERAF5%=0.8
FRAFHT I BERT % =0.7 BFifHT %=0.7 &+ &M %=0.5 XHHiAH=0.5
B EBFE=0.5 HURFHIARE=0.5
175 |26 08 07 | @& 37° 03.4 N 141° 12.6 E 24km M: 3.2
e 1 JRJTHTS1HE=0.6
176 |26 11 37 | fafsRaHE: 37° 01.5 N 139° 20.7 E 7km M: 2.0
e 1 FEkRI AT AT E sk =1.1
177 |26 11 51 | ‘=l 38° 32.5 N 141° 43.2 E 53km M: 3.3
AT 1 —BAnTERIT %=0.8
B 1 AETINHE=1.0
178 |26 14 24 | ‘EHkEH 38° 55.2 N 141° 55.7 E 51km M: 3.9
AT 2 —BAMRARNT k=2.1 JONIETTIE)IINT=1.8 FiEnim MmN «=1.8 AT £=1.8
IRRIETTAAERT=1.8 —BIriTFIEei] *=1.7 fE&5am=1.6
1 =PI k=14 EEFHTE ST % =1.4 AT HEIT=1.3 SARPETTRNT =12 —BdiBRRNT %=1.2
—RATRHRET=1.1 fEETA AT % =10 fEETTHFINT *=1.0 4t ErifHEmT *=1.0
BINFTARIRIX % =0.9 B XS %=0.9 HINHITHIX %=0.9 FAEHT/NH*=0.8
BERTH EILXH 1 %=0.8 —BIHAERET %=0.8 —BIriH|IlT *=0.8 F-REFER %=0.8
RMTRESME % =0.7 (FEHETHEEK % =0.7 (EETT/GARE I %=0.7 1LHIT/UENT=0.7
I ERT AR %=0.7 J\IEFHTHEE*=0.6 BEMIFTRLIT%=0.6 BT £ILXEE %=0.6
ARG % =0.5 = ATk s 15=0.5 =i %=0.5 =i k=0.5 i) l1}:%=0.5
ER 2 SALVATHREZENT % =1.8 RALETHRE=1.6 KA Tk =1.5
1 BTN =13 F§ —FEmTAE11=1.3 KAWHETHAENTELS %=0.9 fo&fidk4nT %=0.9
BRI % =0.8 1 —FEMTHE % =0.8 KIGTTHIL *=0.7 BKTEERT*=0.6 ZEFEHAM*=0.5
B HNT=0.5 SUUEHAERTE)[PN=0.5 f&mHRMAT=0.5 &/ |NAlie=0.5
T A ERT %=0.5 ZEEi5EET=0.5
HARIR 1 P& ERT3E(A%=0.8
179 (26 23 51 | HEHGHER 42° 19.6 N 143° 00.4 E 53km M: 3.6
A 2 HERINT REAESRNT k=15
1 JARPTATIHIR=0.8 JHIRTATEEM *k=0.8 WM AEAE % =0.8 M EH4=0.6 HHIFI R *=0.5
180 |27 02 50 | 7RI 36° 20.3 N 140° 55.8 E 43km M: 3.7
/A 1 SRETIk Fk=1.2 ZKIRFEENSTTE % =0.8 R A %=0.8 B ThiIl/INFAR %=0.7
PRIEENETEA=0.7 WRTTYEZN=0.6 FHEAET F/NE*=0.6 iM% 4=0.5 SMmiAH*=0.5
THER 1 FEAHZR *=0.6
181 |27 03 42 | FHRAFEEED 34° 56.2 N 135° 4.9 E 11km M: 3.5
TEBIF 3 KILIRATBASE % =2.5

DAEILETHH: % =2.4 FUEE Rt R k=2.1 J\ET Ak =2.1 FaTHTTaEE=E=2.0
R HBAE =19 FAMRRRIE *=1.7 FATIEE *=1.7 (A B0 %=1.7
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FIEHFERTEA % =1.6 FEMREXAF *=1.6 MR RIXAE *=1.6 FEHERTRHIRG/\ZE%=1.5

IRB TR %=1.5

TUARPE R XA k=14 FRATTZeNT=1.4 FATASHNT k=1.4 R R EM *=1.3
FEIT A =12 HTFHTk=1.2 TR/ 5(=0.9 FUEMR ALK E %=0.8

TUER TRl NI % =07 AFERTARE k=07 USRI X PG /LS % =0.7 AHI[HiAH:*=0.6

R AR/ [ MET % =0.6

AR L % =2.3 BARENTRE k=2.1 @ATTHBAH *=1.8 HirifiZ=1.8 BOrmAHEAN*=1.7
EMETTPRERIET=1.7 SIS 2 ThERe k=1.6 ASBFTHALE % =1.5

IRBRCRTE) KAV [ sk =14 FERSEAA e sk =1.4 PO HiBAE % =1.3 PIEL T %=1.3
HESAMT Bt % =1.2 R I [THAeAT % =1.2 "RETHPNART k=11 KPHTE XL *=1.1
FRARHTRSMT % =1.0 KRPALKZSRAT*=0.9 PUMBETT T =0.8 FEEMIT4 7E %=0.8
KBRERRZEH=0.8 KBKNBX K E %=0.8 T =5 %=0.8 KSR AN *=0.7
TR % =0.7 KPREREER %=0.6 JVURITIAN %=0.6 Erfigir«=0.6 MH iR *=0.5
ZR R HBAnT=1.5

FFIEBILTRAERILET 3k =1.3 AEE0rTsETHT k=1.2 S HUTEIE Sk =1.0 ZS B “4KHKmE *=0.9
FREHARFPEEM *=0.8 BT A » R %=0.7 5T _rfi%k=0.7 Z3E)I[FERTHER %=0.6
JESPERTEESS % =0.6 BEMSMTIMETEVE % =0.5 FFErish HEAH%=0.5

KriEEHt +=0.8

ZHM FE %=0.6 FEEHTHEER %=0.5 JI[FEiH M %=0.5

34° 56.3' N 135° 34.9 E 11km M: 2.5
RIIGHTIBASE % =0.5 FLARPE R AAL % =0.5
BHEMT AP %=0.8

44°°39.2 N 149° 2.2 E 30kn F M: 5.4
JHHRIHTIE=0.7 UM HAR=0.7 MR A A +=0.6 FREHTIL 2 5%=0.5

37° 38.3 N 142° 08.00 E 31km M: 4.7

AEribkERT =19
TRETHIMEE=1.3 AT/ INAE=1.3 BT & =1.1 BKinan] k=1.1 BAKfiKILm *=1.0
BT AT =10 KIEFTd) 1 = AMT=1.0 ZEEHTEHE *=1.0 A8k %=1.0 FEEMTH H *=1.0
B | IRTHA) [ 3k =1.0 A&t ERT %=0.9 SRR TiZRAx=0.9 EFIHT /N %=0.9
BB % =0.9 AT AERER %=0.9 HMET/NEF%=0.8 ZJI0]4) 111 %=0.8
A =T 11=0.8 SR —18 % =0.8 KIRF i) [ ALAT % =0.8 |LTehT7A)R *=0.8 KIFTiHEM *=0.8
TP mNT=0.8 AT M *=0.8 FUR T4 *=0.8 F&RTIFHEA *=0.7 (B EHERIET %=0.7
IR EXILE %=0.7 FUFRIFIT *=0.7 KM =0.7 S2HRTHMA=0.7 =iRIEERTARER %=0.7
NB =S X Fi=0.7 AT [ IR=0.6 =S NETHTH % =0.6 HABHETE%=0.5
MBEHFEXKA=0.5 K HRIRT %=0.5
FAT TR % =1.5
TRITHT S E=1.2 BRILTRMIRENT =11 — AT k=1.1 KA TR *=1.1
EEFHETTR R % =1.1 fBEOHETFEWLAT k=11 JIINF BN x=1.1 EJIIF/]NE*=1.0
FASTVEARNT % =1.0 A TAR *=1.0 FETHA +=1.0 MIENTILE +=1.0 f&E0HETZ/INT*=0.9
tE T IREET %=0.9 B2/l *=0.9 HE)IHi=iHAT*=0.9 “AKHi4:(4%=0.9
SEHTHTHORRE £ =0.9 HrHMTAHY VR % =0.9 MATTHEEET *=0.8 FH{ATHHET A *%=0.8
JUPA EJHP ISR =08 ZAKATEHE *=0.7 BRILTTHIA=0.7 7M7) %=0.7 f&ETFAART=0.6
WHOETT=FIMT=0.6 FIATARSIR=0.6 M ZENT %=0.6
JUFHFAARX %=0.6 [ FATE(A%=0.6

-BAHTEET k=1.1 RERA T EILXER) [ %=1.0 —PBIEiRAT %=0.6 254 -PFEH] %=0.6
KRR %=0.6 KRi7 /v hT7 1 7=0.5

36° 34.8 N 141° 04.3 E 37km M: 4.2
AR /NS k=23 BRUEFHME % =2.0 F SZrifpTk=1.9 JFHTHH *=1.8
OZ B TRIMEE *=1.6 ki T Tl k=1.5 E#kiiZR)I%=1.5 #EFEREiils*=1.5
HSZHi+ERT A =14 Oz Beiisiam) =14 Hililis4=1.4 ffohiomg e «=1.4
BOTEM k=14 SRMhiaH:%=1.3 FUHFIH:*=1.3 #MH ik E%=1.3 LA *=1.3
ARETTIRET % =1.2 Fhe e dbET %=1.2 /N EEHEA *=1.2 Hiif FéEH*=1.2
ERAT AR =12 IR E TR O k=11 FhEKET b/ NE*=1.1 BJITHIIH *=1.1
SRR k=11 FRER TN =11 KYERTHEEAT =11 AT HANERT %=1.1 K Hi4M1=1.0
DG HH D HHTRFIH *=1.0 BFri=FH %=1.0 FHEAHTEMIT %=1.0 A= mHRx=1.0
/NEEM EER%=0.9 OV=b7en il ERT=0.9 &#RHHEA *=0.9 4T FH5%=0.9
FRIRIT/ N %=0.9 ZRISFENETTEATS=0.9 ZKIREENETE % =0.9 ARFITiIGE %=0.9 SHENT AL *=0.9
R =0.9 /NERR/IVI%=0.9 HIETHEN *=0.8 $MM#M=0.8 HHAMHNTZEN=0.8
OLNEH/INE%=0.8 T H D S LM %=0.8 475 HILM %=0.7 HEHiHil=0.7
BT % =0.7 R KMHRTIENT %=0.7 FERAIRNT*=0.6 FIHHHEE » K5*=0.6
AR %=0.6 - < IEHTXIR %=0.6 17T %=0.6 B4I[HiEEE%=0.6 > |FHKEE*=0.5
ok ER T < =0.5 ST % =0.5
FRTTEET R k=13 RORT FRAAk=1.2 ARILTTIHRNT k=1.1 FJIF/I%=0.9 ARiLImiBHAk *=0.8
T MM % =0.8 Wb E /MG =0.8 VWb & Hi=A00T=0.6 HIATTHIA T /EE=0.6
RESMT HCRAA K =0.6 AT %=0.6 ARLHiEAH=0.6 252!/l *=0.5
AN AREREE %=0.5 WO Y =05 HLENTILH *=0.5 FiHiEPN=0.5 7#/)IIMT7)1]%=0.5
FAT TTERIEEHT 5k =0.5
PEABTEA % =1.4 BEia R %=1.3 FHECE TR *=1.2 EARRITA R *=1.2 FEITHEA *=1.1
HIABRE AT EgA =11 BYEHrPeamTk=1.0 KHEFIEE F%=0.9 FE= THIREHT=0.9




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
B LT =0.9 /LTt EAS k=0.8 BT %=0.8 7 EMTHikE%=0.8
WEATARET AT/ N %=0.8 B/ V% =0.8 BRIl *%=0.7 & FH%5¥=0.7
A AR I RRSR AR =05 J&Fl|i KIERT 3 =0.5
PRI 1 KT ERARET %k =1.0 YE A HFARET%=0.6
TFHER 1 AAHIERT=0.6 FHXHF-H=0.5
186 |28 17 55 | @i 37° 07.7 N 141° 12.2 E 61km M: 3.9
et i 2 HFTTERIEET %=2.0 JIPART EJINEE *=1.8 BRMNVELTES *=1.8 BHEET/NEX *=1.8
JIPSATFINPN=1.6 RITETE=1.6 MEERTILH % =1.5 SFHAKH %=1.5 Wb E LY %=1.5
1 EATHEET AT sk =1_4 ZHEUITAET k=14 IR *=1.3 @/ REFm] R LA KA %=1.3
TS/ =11 ERITA k=1.1 REFS FRAAR K =1.1 WO X TFHEA *=1.1
RESMT BEEEEA R =1.0 A EETRN) [ HrEF k=10 /NIFRT/NEFERT s =1.0 JIIPNAT BN/ =1.0
PR TTET R A RMT =10 HASTIARS [MT=1.0 AT HERT *=1.0 FEFRRETIE B X PHHT %=0.9
MERTHE TR EF=0.9 /NEFIT P % =0.9 HIETAA)14])11=0.8 KABHTE |-%=0.8 \ VoX i =fl=0.7
AT % =0.7 AREFAT SRR %=0.7 HEARTIRGEERT %=0.6 ARLTIBHR *=0.6 —AHATi#HE *=0.6
FIAITHERN=0.6 21T /\i&11 % =0.6 SLAMTREEE *=0.5
PRI 2 KT %=1.5 FEERE IO %=1.5
1 BBV k=14 K E TG *=1.4 HHAKHTTEMNT *=1.3 Sk R)I*=1.3
R E AR k=1.3 EHeAE T b/ k=13 Bk ek =1.2 R A k=11
H T sk=1.1 @kl FRMi%=1.0 HPEHMH*=1.0 H i+ ERTAER*=0.9 A ii4:M7=0.9
FRE i IGH 5 =0.9 M4 % =0.9 R H M HlT % =0.8 tZETiBEFNIT =0.8
SRR TR %k =0.8 U= BRI 0 =0.8 HiliTE4=0.8 OVZ B0 HA)11%=0.8
WA HTHNTENT=0.7 JREMTRRE L %=0.7 A7 iiTFNT *=0.7 YT H*%=0.6 A HiHs%=0.6
FRERE TR *=0.6 AR dek=0.5 Hfii FEdk=0.5 A iif=0.5 £IIHai*=0.5
HEERETHREN=0.5 KRN %=0.5 AKTHNEHRT *=0.5 /EEF/MI%=0.5
INEEEGA %=0.5
IR 1 A8 %=0.6 AT/ NHIE=0.6
NS 1 HFAHRE) (WTESEE % =0.9 BIZES I LHTHF=0.8 KHFEHEE F%=0.7 4= THIALRERT=0.7
FARE TR %=0.5 SRR %=0.5 HATIRE)R]/N1]%=0.5
187 |28 21 59 | AtymEACEETh 44° 33.1 N 141° 40.2° E 11km M: 2.7
AetiE 1 ARl =0.9
188 (29 00 21 | #EBRH 37° 01.5 N 141° 05.8 E 52km M: 3.9
B 2 FHATGEET %=2.0 MERTALH *=1.7 W E i =FfalT=1.5 EJIIF/vE%=1.5
1 /NEFRT/NEPHTRT sk =1.4 FATTHTRARNT =14 JIIPAT BN RJE =14 \ Vo & SRRy k=1.1
FATTHEIT BN sk =11 FATTASS [T=1.0 /NEFRTHE % =1.0 JIIPRTF)119=0.9
R B REPIT PGB R HIE k=08 7 IIBT7)11%=0.8 HEATHAREEET *=0.8 MIAUTHIA F/EE=0.7
JUPARS BN/ INLAE =07 S RARTAR =07 &5 RBP0T F a0 x=0.6 AR %=0.6
FATHTHZERT % =0.6 VWV A %=0.5 \ Wb & Hi/Ma1e=0.5
PRI 1 BHSEABIV NG k=07 mkili Nk =0.7 2R riBEmT % =0.7 HHE T b/ NF*=0.7
ASEiiHERT AR *=0.6 mEtkiize)!%=0.5
189 (29 12 26 | ZrImIRALER 36° 42.4 N 140° 39.7 E 5km M: 3.6
R 2 EFRTH FRM%=2.3 Armi-ERTA *=1.9 EFkTZcR)%=1.8
1 BBV k=12 HSZi&iT=1.0 bR ihIER]T % =0.7 K il ER=0.6
SR HRAE £ =0.6
190 |29 18 39 | ‘EkRH 38° 51.9 N 141° 38.4 E 61km M: 3.4
AT 1 I FEiT =14 —BIrTa{LNT =14 —BIrTEMRNT *=1_4 —BITTRRIUIT *=0.9 FRMTIFIR %=0.6
IHANPETTAANERT=0.6 28 20T %=0.6 b L-rifAEAT =05 —BIri KHHT=0.5
FEmmTHEAK %=0.5
BRI 1 KAWATHED =10 KAVBHI/RE=0.8 BAKATERM] %=0.5
191 (29 21 45 | ERRPEY 37° 05.7 N 140° 35.9° E okm M: 3.7
& 3 TR B . =3.0 BTN 185)11=2.7
2 )RR %=2.0 #JIHTE)%=1.9 WX i =fl=1.7 &JIFRIPEr %=1.6 Ak *=1.6
FEAS T RG] % =1.5 SEHAT K %=1.5
1 HERTIVERAT % =13 FJIRPINE *=1.2 FRTET AR k=11 fATHa I EE=1.1 A miEN=0.9
JNEPITHE k=08 SEAMARREE %=0.7 REAT TR *=0.7 WO XTIV %=0.6
PRI 1 BNV INFRE k=1.0 FEEKE T F/NE%=0.8 B 7tk *=0.7 &HAMHTEMNT *=0.6
HRERE AT %=0.5
192 (29 22 02 | REAIRIKHEL - FbH)7 32° 14.1' N 130° 24.6° E 2km M: 2.2
JZNI 1 KRR k=14 A% 2 N %=0.8
193 (29 22 43 | #hzs) IR HER 35° 35.1' N 139° 33.9 E 31km M: 3.2

TR
soHS

AU

1 THIE kA %=0.9

1 NEFTIRZN*=0.9 ZJERR+=0.9 R H#I*=0.8 FitiE>> U » f%=0.6
JHTTHTFSRART %=0.6 HTHHXKFHT=0.6 BTHTEA %=0.5 E4yFHi~A=0.5
B AR SR % =0.5

1)) X B AT sk =1.0 A7 X LITRT=0.8 AE7krE X I L& B % =0.7
FRILR 1 AKX A AT % =0.7 JIIA=EX)FAMT % =0.7 FEeHIbX B F5AMT %=0.6




MR | GRIRRE |4 fiaicy R X b5
F | BBy | Hoo B G E D
R R Rk =0.6 REEES RIXORIAHT %=0.6 26 4 i35 7 IR=0.6 JFAHT MR =06
R & BT *%=0.5 #2431 [LHAERT 1Lk %=0.5
194 (30 09 14 | EBFUEAS 36° 17.2 N 137° 39.3 E 3km M: 2.9
Mgtz B UL 1 SRR SR EGE % =1.4 &l SRR A % =1.0
195 (30 16 36 | FERREE 37° 40.5 N 139° 56.0' E 8km M: 3.9
e e U 4 AuHEERARIL *=3.6
3 EL Ik *=2.8
2 ELITHHIINT k=23 MEEARTAR R % =21 EZITHIAILRT %=2.0 EZJ5HEMENNRT % =2.0
PEEEATERR=1.9 5 IR )1k =1.9 SESEHENTHRE Ta % =1.9 PHaHT L %=1.8
BT IEARN] k=18 WNERTHIEE % =1.6 BEZIHTILAN] =16 SHAAATHTHAT *=1.6
SR TR =35 k=15 SHEEIATIRANT=1.5
1 SEEHRATTHSENT *=1.4 SEEITIRR=1.4 ST TR k=14 SEEEITARTS *=1.4
DTG ERENT % =1.3 SN T % =1.3 REFRGAT T %=1.3 =ENTE T *=1.2
ERTHTE AT % =1.2 ERLTMRENT =12 THRITHEA =11 ATEN=1.1 FARTERs*=1.0
FEEMTHE=0.9 R4 LmT)I 1 sk =0.7 78T %=0.7 FIyEmT S %=0.6
WAETHIA T EE=0.6 SLANARES %=0.6
LR 2 FREHT FFx=1.5
1 KiRTBRAT=0.6
A 2 [APEmTEL | k=1.8 BT REMER A k=16
1 BPEETEEMESC T % =1.2 PR |k =1.2 PRERRAER=1.1 FPEMT Eilkf % =0.8 Rhiifi -5 %=0.7
XIS % =0.5 B ETHIXAAT=0.5
PRI 1 BZHih) IR % =0.7 iz )1 =0.7
196 (30 16 38 | fm/& A 37° 40.4 N 139° 56.1' E 8km M: 2.4
e b 1 AuERARL *=1.3
197 (30 17 32 | FERLUREEAH 33° 39.2 N 135° 58.4 E 12km M: 4.4
s L o 4 KHUETHESS % =3.9 ACHIET AHIBZE/A R % =3.8
3 AT H k=34 Fremiidg «=3.2 I Eh=2.9 Hre s H=2.8
2 FATHA RS =23 7 BT k=22 Fnaki LENRGRTEIR k=1.9 HAETHA % =1.8
BT ARWTE k=17 EATHTHIERTIEN) | % =1.6 FERT HE%=1.6 AR HE%=1.6
FO A E BT A % =1.5 FRAHTdi=1.5
1 AHEMER=1.4 BT t4 =14 FOmhE)[k=1.4 FE AL AT H 2 %x=1.4
JTEHATES A k=14 FfiE=1.3 fodkil 0 mRTEE k=1.3 HEMTHE%=1.2
MO AT YTE=1.2 HERaTH H 5 k=1.1 FiERTTEBEATE=1.1 Fodki L&) BT/ % =1.0
T LIEIERT RO 5k =1.0 H72~WT+H=1.0 BHERT5#%=0.9 JbILAfKE %=0.8
H ) BT B0 k=07 ElFiT B P ai6=0.7 B i) BT SRR % =0.6 FCEBFHT % %=0.6
AN %=0.6 HIMTHEMF7E *=0.5
—HER 2 FOEWTHRN %=2.0 FCFRHHEE %=1.8
1 AEBFTIAARENT k=11 —FEEITF A AR=0.8 APHifaMT *=0.5
REI 1 RARRRIN=1.2 JEBEHTESR % =0.9 “FEdi KRR =08 BT -4 £=0.7 KB IJFIHMT %=0.7
RIS % =0.7 FRHERSF %=0.6 R)FHRA *=0.5 +HY A Mg *=0.5 BEMGHTVERESFIE %=0.5
ZHBHTEMIFPY =05
T 1 SERTPEOH =10 ZREHT kS %=0.8 FEE T RFINT=0.5 [ TiERT=0.5 il ®T*=0.5
198 |30 17 50 | faEflRaE: 37° 40.2 N 139° 56.1 E 9km M: 2.2
fE 1 AR L k=11
199 (30 17 54 | fEERSHE 37° 40.1' N 139° 56.1 E 8km M: 2.3
e 1 ACEJEAAR L k=14
200 |30 19 00 | ZIURALED 36° 42.3 N 140° 38.2 E 5km M: 2.6
PRI 1 @k ) %=0.5
201 (30 20 02 | ZIRURALED 36° 42.3 N 140° 38.8 E 4km M: 2.9
PRI 2 BT ERTA *=2.0 @kl FR*=1.7 m#iliZeR)1%=1.5
1 HSCAEATk=1.2 BrmighIl/ Vg %=1.0
202 (31 01 56 | 7ZRHRELHh 36° 37.9 N 140° 56.6 E 49km M: 3.5
PRI 2 HNCHBI N %=1.6
1 AFHTHERT %=0.6 Q=B ifimtdss %=0.6 makmiZzeR)I%=0.5
203 |31 01 56 | ‘=i 38° 42.9 N 142° 16.1' E 39km M: 4.6
AT 2 ORI =20 SIIETTNTERT=1.6 220 HEIMT=1.6 |IMITXIR *=1.6 —BIriTIEHT *=1.6
1 e AT k=14 FEnE E T EET k=1.4 —RIrEsiRIT k=14 RS £ LX) *=1.3

IREFTIR T % =1.3 By AT k=1.3 —BITIHERNT % =1.3 mRFTTE~FIT *=1.2 & ik Ih=1.2
FANTETE) [B7=1.1 EREPR %=1.0 JrBIFIRE *=1.0 FE&HRER=1.0

BT R Rk =1.0 (LR UREHT=0.9 B ifiX A k=0.9 UV HEH *=0.9
FEMRBT Ak =0.8 B %=0.8 b _LriFRZAT =0.8 1L TRT=0.7 —BIhifERNT%=0.7
BUNTA X %=0.7 FAREETTERT =06 —BIrT#ILAT%=0.6 fEA&HTIGEANT*=0.6

BTN *=0.6 BYNTTRTRIX %=0.6 = HTRIN=0.6 EENTELA=0.5 —BMTILAT%=0.5




R

MR | GRIRRE |4 fiaicy R RS b5
5| B Ry | & HoE G+ W&
IR 2 RAETIREZNT %=2.2 SAlTETiRE=2.0 KAETEA % =1.8 A&/ NAfE=1.7
1 FETHAERT %=1.3 Z)II0 %)l [k =1.3 FE —FElTEEY 11=1.1 B4Rk =1.0 BKrihanT %=1.0
AL FRT % =09 BT ERT %=0.8 HoKATEKRT %=0.8 KiRHiH L %=0.8 JM/HTHMTE#=0.8
BT HET=0.8 SEIFHSEEY=0.7 KIRTiH) I = HET=0.7 SE R %=0.7 BT BT *=0.7
BRI =07 TEIFITEEAE %=0.6 KIFTHTH) I KIB=0.6 ZEIFT#MI*=0.6 A &) [k*k=0.6
APETRENER %=0.6 FFAETIRA *%=0.6 Kl I[HEHT %=0.5
HARR 1 P ERTIE AR =1.2 JUSTHRARX %=0.9 HARmHET & KM =07 FP0TEE=0.6 /\7iENT=0.5
BHEA/NHEFIR % =0.5
204 |31 04 35 | FET-ELE 30° 46.2 N 130° 44.5 E 65km M: 3.4
FEVL SR 1 Pl RAT=1.0 SRMTHT RS *=0.7 SR7THTHAEE=0.6 FE/CHENTAR 5 =0.6 FUIRTASZENT %=0.5
FFAHTAE S %=0.5
205 (31 05 59 | ZIUy 36° 10.5 N 140° 43.9 E 86km M: 3.3
e i 1 )1 *=0.6
206 |31 10 34 | ‘R 38° 25.00 N 141° 55.7 E 63km M: 3.8
SRR 1 —PBITRRAT % =09 —BIrT=MRAT *=0.8 —BIri @MY *=0.8
IR 1 AT INHE=1.2 &)1 411k =1.0 B EIREF XI5 % =0.9 ki *=0.9
FBTIRRART % =0.8 44 B % =0.7 ZEJEG % =0.7 [ &m0 11=0.7 i) IHERT %=0.7
TN 8E=0.7 LA AARERT % =0.6 KIFHH)1IKIR=0.6 KiFmiL/I=H1T=0.6
Bkt EHIT=0.5 &b ERT%=0.5
207 (31 17 59 | Fchiidh 36° 37.3 N 140° 50.8 E 89km M: 3.9
PRI 2 BSCTBI NGRS %=1.6
1 SR k=14 KT k=14 SR E AL k=13 i x=1.2 HHAHnTRE=1.2
INEET/INI%=1.2 OV=B20 i) k=11 HfiE4=1.1 EHeE T F/N%=1.0
KFTANT=1.0 OV blantimthikA %=1.0 HLifi+FERTA %=0.9 K HTIHET*=0.9
K22 )1 %=0.9 /NEEMEYE %=0.9 /NEEMH EER %=0.9 A7 Rk=0.9 fHHikfil=0.9
TN D BIFRFNE %=0.9 ki PR *=0.8 &M F#F*=0.8 LJiii FaiH*=0.8
BYITPIH *%=0.8 $£H Tk - *=0.8 HVEHFIH:*=0.7 A Zfi&F%=0.7 HHAH i %=0.7
SR TIERH=0.7 SRERTAE%=0.7 GHITH k=06 ZKWHT/NE%=0.6 £)I[T5H*=0.5
B HERE =05 I HAH SHfik+H%=0.5 $EMHEA*%=0.5 HAHHEE » &%=0.5
e b 1 ERTHTHT T =08 /NEFHTHiE 5k =0.8 FATTITARIEIT % =0.8 Z&) 1117 /\If 1L *=0.6 #AZERTILH *=0.5
208 |31 20 55 | ‘EHLIRH 38° 13.00 N 141° 47.0 E 56km M: 3.5
IR 1 AT/ NHE=0.9
209 |31 21 05 | f@fEh 37° 27.3 N 141° 34.0 E 46km M: 3.6

REZERT AL =1, 2 JR{THTEEHHF=0.5




